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NEW QUESTION 1
- (Exam Topic 3)

A newly installed spoke router is configured for DMVPN with the ip mtu 1400 command. Which configuration allows the spoke to use fragmentation with the

maximum negotiated TCP MTU over GRE?

A. ip tcp adjust-mss 1360crypto ipsec fragmentation after-encryption
B. ip tcp adjust-mtu 1360crypto ipsec fragmentation after-encryption
C. ip tcp adjust-mss 1360crypto ipsec fragmentation mtu-discovery
D. ip tcp adjust-mtu 1360crypto ipsec fragmentation mtu-discovery

Answer: A

Explanation:

https://www.cisco.com/c/en/us/support/docs/security/dynamic-multipoint-vpn-dmvpn/111976-dmvpn-troublesh

NEW QUESTION 2
- (Exam Topic 3)
Refer to the exhibit.
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A network administrator sets up an OSPF routing protocol for a DMVPN network on the hub router. Which configuration required to establish a DMVPN tunnel with

multiple spokes?

A. ip ospf network point-to-multipoint on both spoke routers
B. ip ospf network point-to-point on the hub router

C. ip ospf network point-to-multipoint on One spoke router
D. ip ospf network point-to-point on both spoke routers

Answer: A

NEW QUESTION 3
- (Exam Topic 3)
Refer to the exhibit.
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192.168.5.50/24

A network administrator must block ping from user 3 to the App Server only. An inbound standard access list is applied to R1 interface G0/0 to block ping. The
network administrator was notified that user 3 cannot even ping user 9 anymore. Where must the access list be applied in the outgoing direction to resolve the
issue?

A. R2 interface G1/0
B. R2 interface G0/0
C. SW1 interface G1/10
D. SW1 interface G2/21

Answer: D

NEW QUESTION 4

- (Exam Topic 3)
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Refer to the exhibit. The IT manager received reports from users about slow application through network x. which action resolves the issue?

A. Use the variance 2 command to enable load balancing.
B. Increase the bandwidth from the service provider.

C. Move the servers into the users subnet.

D. Upgrade the 10S on router E.

Answer: A

NEW QUESTION 5
- (Exam Topic 3)
A network administrator cannot connect to a device via SSH. The line vty configuration is as follows:

line vty 0 4

location 5421 TE0E2ZTFEE
sassion-timeout 10
tranzport prefarred ssh
transport input all
transport cutput telnet ssh
stopbits 1

Which action resolves this issue?

A. Increase the session timeout

B. Change the stopbits to 10.

C. Configure the transport input SSH
D. initialize the SSH key

Answer: D
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NEW QUESTION 6
- (Exam Topic 3)

Refer to the exhibit. The R1 routing table has the prefixes for the FTP1 and FTP2 file servers. A network engineer must configure the R1 with these requirements:

» Host1 must use the FTP1 fileserver.

» Host2 must use the FTP2 fileserver.

Which configuration meets the requirement on R1?
A)

ip access.list extended FTP1_R1

permit ip host 10.10.10.11 host 10.10.100.11

ip access-list extended FTPZ_R1

permit ip host 10.10.10.22 host 10.10.200.22

1
route-map PBR_FTP permit 10
match ip address FTP1_R1
set ip next-hop 10.10.40.1
route-map PBR_FTP permit 20
match ip address FTP2_R1
set ip next-hop 10.10.30.1
]

ip local policy route-map PBR_FTP

B)

ip access-list extended FTP1_R1

permit ip host 10.10.10.11 host 10.10.100.11
ip access-list extended FTP2_R1

permit ip host 10.10.10.22 host 10.10.200.22
1

route-map PBR_FTP permit 10
match ip address FTP1_R1

set ip next-hop 10.10.30.1

!

route-map PBR_FTP permit 20
match ip address FTP2_R1

set ip next-hop 10.10.40.1

!

ip local policy route-map PBR_FTP

C)
ip access-list extended FTP1_R1

permit ip host 10.10.10.11 host 10.10.100.11

ip access-list extended FTP2_R1

permit ip host 10.10.10.22 host 10.10.200.22
|

route-map PBR_FTP permit 10
match ip address FTP1_R1

set ip next-hop 10.10.30.1

1]

route-map PBR_FTP permit 20
match ip address FTP2_R1

sel ip next-hop 10.10.40.1

1

interface GigabitEthernet 0/0
ip policy route-map PBR_FTP

D)
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ip access-list extended FTP1_R1
permit ip host 10.10.10.11 any
ip access-list extended FTP2_R1
permit ip host 10.10.10.22 any
route-map PBR_FTP permit 10
match ip address FTP1_R1

set ip next-hop 10.10.30.1

L

route-map PBR_FTP permit 20
match ip address FTP2_R1

sét ip next-hop 10.10.40.1

1

interface GigabitEthernet 0/0

ip policy route-map PBR_FTP

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 7
- (Exam Topic 3)
Refer to the exhibit.

ip sla 1

icmp-echo 8.8.8.8

threshold 1000

timeout 2000

frequency 5
ip sla schedule 1 life forever start-time now
!

track 1 ip sla 1

1

ip route 0.0.0.0 0.0.0.0 203.0.113.1 name ISPl track 1
ip route 0.0.0.0 0.0.0.0 198.51.100.1 2 name ISP2

The administrator noticed that the connection was flapping between the two ISPs instead of switching to ISP2 when the ISP1 failed. Which action resolves the
issue?

A. Include a valid source-interface keyword in the icmp-echo statement.

B. Reference the track object 1 on the default route through ISP2 instead of ISP1.
C. Modify the static routes to refer both to the next hop and the outgoing intertace.
D. Modify the threshold to match the administrative distance of the ISP2 route.

Answer: A
Explanation:

https://www.cisco.com/c/en/us/support/docs/ip/ip-routing/200785-1SP-Failover-withdefault- routes-using-1.html

NEW QUESTION 8
- (Exam Topic 3)
Refer to the exhibit.

El(config) #ip prefix-list EIGRP seq 10 deny 0.0.0.0/0 le 32
Fl(config) #ip prefix-list EIGRP seq 20 permit 10.0.0.0/8

Fl (config) #router eigrp 10

l (config-router) #distribute-list prefix EIGRP in Ethernet0/0

Ty

Flé#show ip route eigrp

A prefix list is created to filter routes inbound to an EIGRP process except for network 10 prefixes After the prefix list is applied no network 10 prefixes are visible in
the routing table from EIGRP. Which configuration resolves the issue?

A. ip prefix-list EIGRP seq 20 permit 10.0.0.0/8 ge 9.

B. ip prefix-list EIGRP seq 10 permit 0.0.0.0/0 le 32

C. ip prefix-list EIGRP seq 5 permit 10.0.0.0/8 ge 9 no ip prefix-list EIGRP seq 20 permit 10.0.0.0/8
D. ip prefix-list EIGRP seq 20 permit 10.0.0.0/8 ge 9 ip prefix-list EIGRP seq 10 permit 0.0.0.0/0 le 32

Answer: C

NEW QUESTION 9
- (Exam Topic 3)
Refer to the exhibit.
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The Internet traffic should always prefer Site-A ISP-1 if the link and BGP connection are up; otherwise, all Internet traffic should go to ISP-2 Redistribution is
configured between BGP and OSPF routing protocols and it is not working as expected. What action resolves the issue?

A. Set metric-type 2 at Site-A RTR1, and set metric-type 1 at Site-B RTR2
B. Set OSPF cost 100 at Site-A RTR1, and set OSPF Cost 200 at Site-B RTR2
C. Set OSPF cost 200 at Site: A RTR1 and set OSPF Cost 100 at Site-B RTR2
D. Set metric-type 1 at Site-A RTR1, and set metric-type 2 at Site-B RTR2

Answer: D

Explanation:

OSPF type 1 route is always preferred over a type 2 route for the same destination so we can set metric-type 1 at Site-A RTR1 so that it is preferred over Site-B
RTR2.

Note:

Routes are redistributed in OSPF as either type 1 (E1) routes or type 2 (E2) routes, with type 2 being the default.

— A type 1 route has a metric that is the sum of the internal OSPF cost and the external redistributed cost.

— A type 2 route has a metric equal only to the redistributed cost.

— If routes are redistributed into OSPF as type 2 then every router in the OSPF domain will see the same cost to reach the external networks.

— If routes are redistributed into OSPF as type 1, then the cost to reach the external networks could vary from router to router.

NEW QUESTION 10
- (Exam Topic 3)
Refer to the exhibit.
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An engineer is trying to connect to R1 via Telnet with no success. Which configuration resolves the issue?

tacacs server prod
address ipvd 10.221.10.10
axit

o jp route 10.221.10.10 255.255.255.255 ethernet 0/1

tacacs server prod
address ipvd 10.221.10.11
exit

ip route 10.221.0.11 255.255.255.255 ethernet 0/1

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
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NEW QUESTION 10
- (Exam Topic 3)
Refer to the exhibit.

AS 1000
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"Ly

Internet Cloud
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Customer Edge

The Customer Edge router (AS 65500) wants to use ASC100 as the preferred ISP for all external routes.

Customer Edge
route-map SETLP

set localspreference 111
!

router bgp 65500

neighbor 192.168.111.1 remote-as 100
neighbor 192.168.111.1 route-map SETLP out
neighbor 192,168,112, 2 remote-as 200

This configuration failed to send routes to AS 100 as the preferred path. Which set of configuration resolves the issue?

route-map SETLP
set local-preference 111
!

router bgp 65500
neighbeor 182.168.111.1 remote-as 100
rneighbor 192.168.111.1 route-map SETLP out

route-map SETLP
sat local-preference 111
!

router bgp 66500
reighbor 1892.168.111.1 remote-as 100
neighbor 192.168.111.1 route-map SETLP in

route-map SETFP
set as-path prepend 111 111
!

router bgp 65500
neighbor 192.168.111.1 remote-as 100
neighbor 182.168.111.1 route-map SETPP ouwt

route-map SETPP
set as-path prepend 100 100
]

router bgp 65500
naighbor 192.168.111.1 remote-as 100
neighbor 192,168.111.1 route-map SETPP in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 15
- (Exam Topic 3)
What must be configured by the network engineer to circumvent AS_PATH prevention mechanism in IP/VPN Hub and Spoke deployment scenarios?

A. Use allows in and as-override at all Pes.

B. Use allowas in and as-override at the PE-Hub.
C. Use Allowas-in the PE_Hub

D. Use as-override at the PE_Hub

Answer: D

NEW QUESTION 19
- (Exam Topic 3)
An engineer notices that R1 does not hold enough log messages to Identity the root cause during troubleshooting Which command resolves this issue?

A. #logging buffered 4096 critical

B. (config)#logging buffered 16000 informational
C. #logging buffered 16000 critical

D. (config)#logging buffered 4096 informational
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Answer: B

NEW QUESTION 24
- (Exam Topic 3)

Which technique removes the outermost label of an MPLS-tagged packet before the packet is forwarded to an adjacent LER?

A. label swap

B. explicit-null

C. label imposition
D. PHP

Answer: D

NEW QUESTION 29
- (Exam Topic 3)
Refer to the exhibit.

summary-address 1010025525500

The none area 0 routers in OSPF still receive more specific routes of 10.1.1.0.10.1.2.0.10.1.3.0 from area 1. Which action resolves the issue?

A. Configure route summarization on OSPF-enabled interfaces.
B. Summarize by using the summary-address 10.1.0.0 255.255.252.0 command.
C. Summarize by using the area range command on ABRs

D. Configure the summary-address 10.1.0.0 255.255.252.0 command under OSPF process.

Answer: C

NEW QUESTION 30
- (Exam Topic 3)

A newly Installeo router starts establishing an LDP session from another MPLS router to which it is not directly connected. Which LDP message type responds by
target router to the Initiating router using UDP protocol?

A. notification message

B. session message

C. extended discovery message
D. advertisement message

Answer: C

NEW QUESTION 34
- (Exam Topic 3)

b e e e —— S R
changed state to up

¥*LINEFPROTC-5-UPDOWN: Line protocol on Interface Ethernetd/2,
changed state to up

YLINEPROTC-5-UPDOWN: Line protccecl on Interface Ethernet0/3,
changed state to up

L0SPF-5-ADJCHG: Process 1, Nbr 10.1.1.2 on Ethernet0,/0 from
LOADING to FULL, Loading Done

%BGP-3-NOTIFICATION: received from neighbor 192 . 168 200.1
active 6/7 (Comnection Collision Resolution) 0 bytes
tBGP-5-NBR_RESET: MNeighbor 192.168.200.1 active reset (BGP
Notification received)

RBGP-5-ADJCHANGE: neighbor 192.168 .200.1 active Down BGP
Notification raceivead

*BGF SESSICN-S5-ADJCHANGE: neighbor 192.168.200.1 IPv4 Unicast
topology base removed from session EBGP Notification recelived

Refer to the exhibit. An engineer noticed that the router log messages do not have any information about when the event occurred. Which action should the

engineer take when enabling service time stamps to improve the logging functionality at a granular level?

A. Configure the debug uptime option
B. Configure the msec option

C. Configure the timezone option

D. Configure the tog uptime option

Answer: D

NEW QUESTION 36
- (Exam Topic 3)
What is an MPLS LDP targeted session?

A. session between neighbors that are connected no more than one hop away
B. LDP session established between LSRs by exchanging TCP hello packets
C. label distribution session between non-directly connected neighbors

D. LDP session established by exchanging multicast hello packets
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Answer: C

NEW QUESTION 38
- (Exam Topic 3)
Refer to the exhibit.
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During ISP router maintenance, the network produced many alerts because of the flapping interface. Which configuration on R1 resolves the issue?

A. no snmp trap link-status

B. snmp trap link-status down

C. snmp trap ip verify drop-rate

D. ip verify drop-rate notify hold-down 60

Answer: D

NEW QUESTION 42
- (Exam Topic 3)

fshow ip eigrp topology

flish run | & eigrp

ARG AUTO-SIEEA Ty
I IR Ty

10.10.10.0 255.25%5.255.0

Refer to the exhibit. An engineer configured router R3 to redistribute the prefix 10.10.10.0/24 from OSPF into EIGRP R1 has no connectivity to the prefix. Which

action enables receipt of prefixes on R1?

A. R3 is advertising the 10.20.20 0'24 prefix with a TTL of 1, R3 must set the TTL to 2 for this prefix.
B. R1 docs not have a neighbor relationship with R2. The EIGRP process should be cleared on R1.
C. Duplicate router IDs on R1 and R3, R1 should modify its router ID.

D. R1 is not receiving the next-hop IP address of R3. R2 must enable the network 10 20.20.0V24 within EIGRP.

Answer: B

NEW QUESTION 47
- (Exam Topic 3)

Rl¥show running-config | begin router eigrp
router eigrp 100

network 172.16.250.0 0.0.0.255
redistribote ospf lmetric 11111
router ospf 1

redistribute eigzp LOD subnets

network 19%2.1608.250.0 0.0.0.255 area 0

R2¥show runn | begin router eigrp
reuter eigrp 100

network 172.16.250.0 0.0.0.235
redistribute ospf 1 metric 11 11 1

[ ]
router capf 1

rodistribute eigrp 100 subnets
network 192.168.250.0 0.0.0.255 area 0

ip forward-protocel nd

Guaranteed success with Our exam guides

RS#tracercute 172.16.3.1
Type eacape sequence to abort
Tracing the route to 172.16.3.1

VRF info:

1152
1%2
152

21N,

172

172.

R3#

[vrf in nama/id,
168 250, 9 66 msec

L168.250.6 & mseo

166.250.59 B maec
16.250.2 313 maac
16.230.14 BE msec
16.250.2 11 msec

vrf out name/id
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192.168.230.4 f 30

172.16.2350.0 / M
172.16.3.0 / 30

192.168.5.0 /30

162.168.2%0.8 / 30

172.16.2%0.12 [ 30

Refer to the exhibit. An engineer Is troubleshooting a routing loop on the network to reach the 172.16.3.0/16 from the OSPF domain. Which configuration on router

R1 resolves the Issue?
A)

router ospf 1
redistribute eigrp 100 subnets route-map LOOPFILT

route-map LOOPFILT deny 10
match ip address 15

route-map LOOPFILT permit 20
I

access-list 15 permit 172.16.0.0 0.0.255.255
B)

router eigrp 100
redistribute ospf 1 metric 1111 1 route-map LOOPFILT

route-map LOOPFILT deny 10
match ip address 15
]

route-map LOOPFILT permit 20
1

access.list 15 permit 172.16.0.0 0.0.255.255
C)
router ospf 1
redistribute eigrp 100 route-map LOOPFILT
!
route-map LOOPFILT deny 10
match ip address 15
1
access-list 15 permit 172.16.0.0 0.0.255.255
D)

router eigrp 100

redistribute ospf 1 metric 11 11 1 route-map LOOPFILT
I

route-map LOOPFILT deny 10

match ip address 15

!

access-list 15 permit 172.16.0.0 0.0.255.255

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 50
- (Exam Topic 3)
Refer to the exhibit.
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An engineer configured IP SLA on R1 to avoid the ISP link flapping problem. but it is not working as designed IP SLA should wait 30 seconds before switching

traffic to a secondary connection and then revert to the primary link after waning 20 seconds, when the primary link is available and stabilized. Which configuration
resolves the issue?

A. R1(config)#ip sla 700R1(config-ip-sla)#delay down 30 up 20
B. R1(config)#ip sla 700R1(config-ip-sla)#delay down 20 up 30
C. R1(config)#track 700 ip sla 700R1(config-track)#delay down 30 up 20
D. R1(config)#track 700 ip sla 700R1(config-track)#delay down 20 up 30

Answer: C

Explanation:

“wait 30 seconds before switching traffic to a secondary connection” -> delay down 30 “then revert to the primary link after waiting 20 seconds” -> up 20
Under the track object, you can specify delays so we have to configure delay under “track 700 ip sla 700" (not under “ip sla 700").

NEW QUESTION 52
- (Exam Topic 3)

Ajaa 0

RI{configl §f reuter oapf 1
Az iconfig=routec)}® area 21 wirpbtusl-link 23.3.3.3

Ai{canfigl i cpouksr oapf 1

"Apr 4 90:23:34_215: YWOSFF-4-EEBRCY: FReceived imvalid packet:
migmatch area ID, from backbone area =ust be wirtuwal-link but not
found from 193.168.135.5, FaskEZthernetld/ 2

R3jconfig-router)f area 21 wirtual-limk 2.3.2.3
Rijeanfig-rautar] ) area 7] stub

Refer to the exhibit. A network engineer is troubleshooting a failed link between R2 and R3 No traffic loss is reported from router R5 to HQ Which command fixes
the separated backbone?

A. R2(config-router)#no area 21 stub

B. R2(config_router)#area 21 virtual-link 192.168.125.5
C. R3(config-router)#area 21 virtual-link 192.168.125.5
D. R3(config-router)#no area 21 stub

Answer: D

NEW QUESTION 55
- (Exam Topic 3)
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Rlfishow cef inter e0Q/0

Ethernetl/D is up (if_number 3}
Corresponding hwidb fast_if_number 3
Correspending bwidb firstsw->if_number 3
Internet address is 209.165.200.226/30
ICMP redirects are abways sent

Ber packet load-sharing is disabled

IP unicast RPF chieck is enabled

Input features; uRPF

IP policy routing is disabled

<Output Omitted

Eojo
Rl
Eny1

Rlish cef interface eQf1

EthernetOf] is up (if_number 4)
Corresponding hwidb fast_if_number 4
Corresponding hwidb Tiestaw->il number 4
Imternet address i 200, 165,200,230
ICMP redirects are always sent
Per packet load-sharing is disablad
IP unicast RPF chack is disablad
IF policy rauting s disabled

20utput Omitted=

Reglonal Data Center

15P-A,
Eoyf
R3
I5F-B
E0y1
R

Refer to the exhibit. The company implemented uRPF to address an antispoofing attack. A network engineer received a call from the IT security department that

the regional data center is under an IP attack Which configuration must be implemented on R1 to resolve this issue?

interface ethernetl/l
ip verify unicast reverse-path

interface ethernetl/
ip verify unicast reverse-path

interface ethernet0/M

ip unicast RPF check reachable-via any allow-default allow-self-ping

interface ethemet0/0

ip unicast RPF check reachable-via any allow-default allow-self-ping

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
NEW QUESTION 59

- (Exam Topic 3)
Exhibits:

10,18, 198,24

@

e

ASHE 3

router bgp 100

neighbor 10.1.1.1 remote-as
neighber 10.1.2.2 remocte-as
neighbor 10.1.3.3 remote-as

ASBR2

router bgp 100
neighbor 10.1.1.4 remote-as
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ASBR2

router bgp 100
neighbor 10.1.1.4 remote-as 100

ASBR3

router bgp 100
neighber 10.1.2.4 remote-as 100

ASBR4

router bgp 100
neighbor 10.1.3.4 remote-as 100

Refer to the exhibit The administrator configured the network devices for end-to-end reachability, but the ASBRs are not propagating routes to each other Which
set of configurations resolves this issue?

router bgp 100

neighbor 10.1.1.1 route-reflector-client

neighbor 10.1.2.2 route-reflector-client
neighbor 10.1.3.3 route-reflector-client

router bgp 100

neighbor 10.1.1.1 update-source Loopback0
neighbor 10.1.2.2 update-source Loopback0
neighbor 10.1.3.3 update-source Loopback(

router bgp 100

neighbor 10.1.1.1 next-hop-self
neighbor 10.1.2.2 next-hop-self
neighbor 10.1.3.3 next-hop-self

router bgp 100

neighbor 10.1.1.1 ebgp-multihop
neighbor 10.1.2.2 ebgp-multihop
neighbor 10.1.3.3 ebgp-multihop

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 62
- (Exam Topic 3)

Rl (config) #interface GigabitEthernet 0/0
Rl (config-if)#ip address 10.10.10.10 255.255.255.252
Rl (config-if)#ospfv3 1 ipvd area 0

R2 (config) #interface GigabitEthernet 0/0

R2 (config-if)#ip address 10.10.10.11 255.255.255.252
R2 (config-if)#ospfv3 10 ipvd area 0

R2 (config-if) #ospfv3 network broadcast

Refer to the exhibit An engineer is troubleshooting an OSPF adjacency issue between directly connected routers R1 and R2 Which configuration resolves the
issue?
A)

R1(config)#interface GigabitEthernet 0/0
R1(config-if)zospfv3 network broadcast
B)

R2(config )#interface GigabitEthernet 0/0
R2(config-f)=ip address 10.10.10.9 255.2565.255.252

C)

R1(conhg)#interface GigabitEthernet 0/0
R1(config-f)2ospfvd 10 ipv4 area 0

D)
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R2(config)¥interface GigabitEthernet 0/0
R2(config-if}#no ospfv3 network broadcast

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
NEW QUESTION 63

- (Exam Topic 3)
Refer to the exhibit.

CrEt ping 10.0.2.4
Type egcape gequence to abort,
Sending 5, 100-byte ICMP Echos to 10.0.2.4, timecut is 2

seconds:

AR

Success rate is 100 percent (5/5), round-trip min/avg/max =
1/1/]1 ms

CPE# copy flash:/packages.conf tftp://10.0.2.4/

Address or name of remote host [10.0.2.4]7

Destination filename [packages.conf]?

§¥Error opening tftp://10.0.2.4/packages.cont (Undefined error)

The administrator is trying to overwrite an existing file on the TFTP server that was previously uploaded by another router. However, the attempt to update the file
fails. Which action resolves this issue?

A. Make the packages.conf file executable by all on the TFTP server
B. Make the packages.conf file writable by all on the TFTP server

C. Make sure to run the TFTP service on the TFTP server

D. Make the TFTP folder writable by all on the TFTP server

Answer: B

NEW QUESTION 68
- (Exam Topic 3)

WAN Cloud

Swilph Swilch

P

Head Office Branch

Router Router . :‘

1 . 1',t_.."?'r_!'
E— Metwork Administralurﬁ(j
TACACS+ Server o

10.100.50.99 192.168.100.36

A network administrator is trying to access a branch router using TACACS+ username and password credentials, but the administrator cannot log in to the router
because the WAN connectivity is down. The branch router has following AAA configuration:

aaa new-model

aaa authorization commands 15 default group tacacs+

aaa accounting commands 1 default stop-only group tacacs+

aaa accounting commands 15 default stop-only group tacacs+

tacacs-server host 10.100.50.99

tacacs-server key CiSco123

Which command will resolve this problem when WAN connectivity is down?

A. aaa authentication login default group tacacs+ local

B. aaa authentication login default group tacacs+ enable
C. aaa authentication login default group tacacs+ console
D. aaa authentication login console group tacacs+ enable

Answer: A
Explanation:

With the “aaa authentication login default group tacacs+ local ” command configured, when logging in, the password supplied will be attempted to be verified by
the TACACS+ server before access is granted. If the server is unavailable/unreachable, then the switch will fall back to using the local authentication database.
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NEW QUESTION 70
- (Exam Topic 3)

l¥ configure terminal
El{config)4 hostnama CPEL
CPEl(config) § ip domain-name example.com
CPELl (config)# erypto key generate rsa
The name for the keys will be: CPEl.example.com
Choose the size of the key modulus in the range of 360 to 40%6
for your
General FPurposze Heyas, Choosing a key modulus greater than 512
may take
a few minutes.

How many bits in the modulus [512]: 20438
¥ Generating 204% bit RSA keya, keys will be non-expertable...
[OK] (elapsed time waz 2 secondsz)

CPELl (config) § service password-encryption

CPEL (config) # usernams csadmin secret Secur3pd4s$wlrd
CPEl{config)# line vty O 4

CPEl (config-lins)# transport input telnet ssh
CPEl (config-1line)# legin local

CPEl (config-line)# end

CFPELl# copy runnhing-config startup-config
De=ztination filenam= [atartup-config]?

Building configuration...

[OK]

CPE1# ssh 10.0.0.1

% No user specified nor awvailable for 55H client

CPEL# copy running-config startup-config
Destination filename [startup-configl?

Building configuration...

[OK]

CPEl} =sh 10.0.0.1

% No user specified nor available for 55H client

Refer to the exhibit. An administrator must harden a router, but the administrator failed to test the SSH access successfully to the router. Which action resolves the

issue?

A. Configure SSH on the remote device to log m using SSH

B. SSH syntax must be ssh -1 user ip to log in to the remote device
C. Configure enable secret to log in to the device

D. SSH must be allowed with the transport output ssh command

Answer: B

NEW QUESTION 75
- (Exam Topic 3)

192788 600722

VLAM 5 192188 5. 10
VLAN T 182.184.7 10
VLAN T 192.188.2. 10
VLAN 29 192.168.29.10
VLAM 80 192 168 80 10
VLANM & 192.168.6.10

192168 80.0/28

Refer to Ihe exhibit After an engineer configured a new Cisco rouler as a DHCP server, users reponed iwo primary issues:

> Devices in the HR subnet have intermittent connectivity problems.
> Workstations in the LEGAL subnet cannot obtain IP addresses.

Which configurations must the engineer apply to ROUTER_1 to restore connectivity for the affected devices?
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interface GigabitEthernet0/0.5
encapsulation dot1Q 5
ip address 192.168.5.10 255.255.255.0
ip helper-address 192.168.39.100

1

interface GigabitEthernet0/0.80
encapsulation dot1Q 80
ip address 192.168.80.10 255.255.255.128
ip helper-address 192.168.39.100

1]

ip dhcp excluded-address 192,168.5.1 192.168.5.10
ip dhep excluded-address 192.168.80.1 192.168.80.10
]

ip dhep pool LEGAL
network 192.168.80.0 255.255.255.128
default-router 192.168.80.10

ip dhep pool HR
network 192.168.5.0 255.255.255.0
default-router 192,168.5.10

o interface GigabitEthernet0/0.5
encapsulation dot1Q 5
ip address 192.168.5.10 255.255.255.0
ip helper-address 192.168.39.100

interface GigabitEthernet0/0.80
encapsulation dot1Q 80
ip address 192.168.80.10 255.255.255.128
ip helper-address 192.168.39.100
!
ip dhep excluded-address 192,168.80.1 192.168.80.10
L]

ip dhcp pool LEGAL
network 192.168.80.0 255.255.255.128

default-router 192.168.80.10
1

ip dhcp pool HR
network 192.168.5.0 255.255.255.0
default-router 192.168.5.10

‘interface GigabitEthernet0/0.5
encapsulation detiQ 5
ip address 192.168.5,10 255.255.255.0
ip helper-address 192,168.93.100
]

interface GigabitEthernet0/0.80
encapsulation dot1Q 80
ip address 192.168.80.10 255.255.255.128
ip helper-address 192.168.39.100

1

ip dhep excluded-address 192 168.5.1 192.168.5.1
ip dhcp excluded-address 192.168.80.1 192.168.80.10
]

ip dhcp pool LEGAL
network 192.168.80.0 255,.255.255.128
default-router 192.168.80.10

]

ip dhep pool HR
network 192.168.5.0 255.255.255.0
default-router 192.168.5.10

interface GigabitEthernet0/0.5
encapsulation dot1Q 5
ip address 192, 168.5.10 255.255.255.0
ip helper-address 192.168.39.100

i

interface GigabitEthernet0/0.80
encapsulation dot1Q 80
ip address 192.168.80.10 255.255.255.128
ip helper-address 192.168.39.100
!
ip dhcp excluded-address 192.168.5.1 192.168.5.5
ip dhep excluded-address 192.168.80.1 192.168.80.110
1

ip dhep pool LEGAL
network 192.168.80.0 255.255.255.128
default-router 192.168.80.10

L]

ip dhcp pool HR
network 192.168.5.0 255.255.255.0
default-router 192.168.5.10

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 80
- (Exam Topic 3)
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configuration on the hub router meets this requirement?

A. interface TunnelOtunnel mode gre multipoint
B. interface TunnelO tunnel mode dvmrp

C. interface TunnelO tunnel mode ipsec ipv4

D. interface TunnelO tunnel mode ip

Answer: A

NEW QUESTION 81
- (Exam Topic 3)

A company Is redesigning WAN infrastructure so that all branch sites must communicate via the head office and the head office can directly communicate with
each site independently. The network engineer must configure the head office router by considering zero-touch technology when adding new sites in the same

WAN infrastructure. Which configuration must be applied to the head office router to meet this requirement?

interface Tunneld
tunnel mode ip
ip nhrp map muliticast dynamic

interface Tunneld
tunnel mode dvmrp
ip nhrp redirect

interface Tunneld
tunnel mode ip
ip nhrp redirect

interface Tunneld
tunnel mode gre multipoint
ip nhrp map multicast dynamic

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 85
- (Exam Topic 3)

Rl:
I;E;[fltl Loopbackl
ne ip address
ipvE address 100A:0:100C::1/64
ipwé snable
ipvé capf 10 area 0
i
interface Loopbackd
no ip address
ipvE address 400A:0:400C::1/64
ipvE snable
ipvE capf 10 area 0

inkarface Sariall/0

no ip address

ipvE address ABOL1:2011:7:100;:/64 eui-6&4
ipwé enable

ipvt cxpl neatwork polnt-to-point

ipvé capf 10 area 0

ipveé traffic-filter DENY TELMET Lod in
sorial restart-delay 0 -
clock cate 64000

i
ipvé router ospf 10

router-1d 1.1.1.1
leg-adjacancy-changas

i

ipveé access-list DENY TELMET LO4

and
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R2:

interface Locpback(

no ip address
ipvé address 1001 ABC:20011:7::1/64
ipvé snable
ipvé ocspf 10 area 0

| ]

interface Seriall/0

no ip addreas

ipvh address ARDL:2011:7:100::/64 eui-64
ipvh eanable

ipvé capf natwork point-to=point
ipve capf 10 area 0

serial restart-dalay 0

ipvé router ospf 10

router-id 2.2.2.2
log-adjacancy-changas

]

and

saquance 20 dany Lrp_hnit 100:ABC:2011:7 host 400A:D:400C: 1 »g telnat pammit ipvé any any
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Rl:
intsrface Loopbackl
ne ip address

ipvE address 100A:0:100C::1/64

ipvE snable

ipvé cspf 10 area 0
i

interface Loopbackd
ne ip address

.- H

intarface Locpback(

ro ip address

ipwé address 1001 :ABC:2011:7::1/64
ipvé anable

ipvé ospf 10 area 0

interface Seriall/0

ro ip address

LPVE OEPL iy ACSE W LPYE OBPI N8CWOIE POLNT=LO-POLLL
| ipvwh ocapf 10 area O

intearface Sariall/fo sarial restart-dslay ©

ng 1p addrass '

ipwé address ABDYL:2011:7: 10035 04 wal-64 ipwé rouktesr ompf 10

ipwé anable router-id 2.2.2.2

ipvé ospf network polnt-to-point isg-adjacency-changes

ipvh ospf 10 arsas O i

ipwt traffic-filter DENY TELMET Lod in and

sarial restart-delay C

clock rats 4000

L]

ipvé router sspf 10

router-id 1.1.1.1
log-adjacency-changes

1

ipvk access-list DENY TELNET LO4

mind

eequance 20 deny tep host 100:ABC:2011:7 host 400A;0:400C::1 aq telnat parmit ipwd Eey sl

ipvé access-list DENY TELMET LO4

and

saquance 20 dany Ll.-p_ha-lr_ 100:ABC:2011:7 host 400A:0:400C: ;1 #g talneat parmit ipvé any any

Refer to the exhibit. An engineer implemented an access list on R1 to allow anyone to Telnet except R2 Loopback0 to R1 Loopback4 How must sequence 20 be

replaced on the R1 access list to resolve the issue?

A. sequence 20 permit tcp host 1001 ABC:2011:7:: 1 host 400A:0:400C::1 eq telnet
B. sequence 20 deny tcp host 400A:0:400C::1 host 1001 :ABC:2011:7::1 eq telnet
C. sequence 20 deny tcp host 1001:ABC:2011:7::1 host 400A:0:400C::1 eq telnet
D. sequence 20 permit tcp host 400A:0:400C::1 host 1001ABC:2011:7::1 eq telnet

Answer: C

NEW QUESTION 87
- (Exam Topic 3)
Refer to the exhibit.

./;;_‘;\rwn ED/1 J_\| 0/ wﬂm
l\‘y VLAN 10 \—_J VLAN 10 @

R1 [OMCP Senver] Switch M1 [DHOP Chent]

Him

interface Ethernet0N0
o i addne s

pvte address chop

A URCALE POUEIRG
g dhep paal MY _PODL
addresy prehia 2001 :DEED; E;f64

ipvi erable
vl ace Eiberng 100D nas vhisd
sy iy addrerss i :
il enabie end

HiSgh ipels int i
Etheeretd 0 fupsup]

F18h apvils dhop inding AR LR EOOAD00

Flm

W1 debug ignd dhp delsl
"o F O30T 1L %50 P IDHOP: Sendeng SOUICTT to FROD2 0022 o Eiberne 100D
"How O3 T1=15.T71%: IPvh DHCF: detaded paciet conicnis
"Mew J03TL1ET1S: arc FEBD-ASBE .COFF-HEQO-LO00
“Mow 2O3VDABTIS: dwt FROE:T:2 (ErhernetiyD)
Mo FODTLNET15: bype SOLICIT{L], wad 11 DEB1SE
“New 203 11:18.715: option ELAPSED-TIMECR), lon 2

t} "Haw FOXIIIRETIS:  elagied tene O
*How 203:11:1BT15: optson CLIENTID{LY len 10
"Now 202118715 QOORDO0 LAAEBC COE000
| *New IRIIEIETIS: opton QRO(G], len 4
*How X031L1BTIS:  DNS-SERVERS DOMAIN-LIST
"Now 2OI:1ETIS: optaon BGNALT), ken 12
| "Mew 2ORALIETIS:  dAD GueDOOR00L, T30, T2 O

After the network administrator rebuilds the IPv6é DHCP server, clients are not getting the IPv6 address lease. Which action resolves the issue?

A. Remove FE80 A8BB CCFF FEOO 5000 assigned by the IPV6 DHCP server.
B. Add Ipv6 dhcp sarver MY_POOL under the interface ethernet 0/0 on H1.

C. Add Ipv6 dhcp server MY_POOL under the interface ethernet 0/0 on R1.

D. Configure FF02::1:2 to discover al IPv6 OHCP cfcents

Answer: C

NEW QUESTION 91
- (Exam Topic 3)

Configure individual VRFs for each customer according to the topology to achieve these goals :
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Topology Dagram
- |
i [ I i [ 4
I i L -':
M razdondiy
R1
R1 R2 SWH SW2 SW3a SW4
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R1 R2 SWH sSw2 SW3 SW4

R1 R SW1 SWW2 SWa3 SW4

R1 R2 SWH SW2 SV SWd
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R1 R2 SW1 swa2 sSWw3 W4

Ri1 R2 S swW2 sSwa SW4

R1 R2 SW1 swz2 SW3 SWd
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R1 R2 SW1 SW2 SW3 SW4

R1 R2 SWi1 Sw2 SW3 W4

R1 R2 SW1 SW2 SwW3 SW4
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Ri R2 SW1 SW2 SW3 SW4

R1 R2 SWH1 aW2 SWWa3 SW4

R1 R2 SWi1 SVW2 SWV3 1R )
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R F2 SWh SV S¥V3 SVvd

R R2 SWi1 SW2 SW3 SV
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R1 R2 SW1 SWwz SW3 SWW4

R1 R2 SWi1 sSwW2 SW3 SWe
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R1 R SW1 SwW2 SWa SW4

R1 R2 SW1 SW2 SW2 SWd

Culdelines Topology Tasks

Configure individual WRFs for each customer according o

the topology to achieve these goals

1. VRF “cu-red"” has interfaces on routers R1 and R2
Both routars are preconfigured with 1P addressing
VRFs, and BGP. Do not use the BGP network
statement for advartisamant

2. VRF cu-greaen” has interfaces on routers R1 and R2

3. BGP on routar R populatas VRF routas hatwasn
router R1 and R2

4. BGP on router R2 populates VRF routes between
router R1 and R2

2. LAN to LAM 15 reachable betweaan 5W1 and SW3E for
YIRF “cu-resd amd beteeen SW2 and SWA for WIRF

cu-graan”. Al swiadheas are praconfigured

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Solution:

? Use cu-red under interfaces facing SW1 & SWa3:

On R1:

interface Ethernet0/0

ip vrf forwarding cu-red

ip address 192.168.1.254 255.255.255.0

Check reachability to SW1: R1#ping vrf cu-red 192.168.1.1 Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 192.168.2.1, timeout is 2 seconds:
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Success rate is 100 percent (5/5), round-trip min/favg/max = 1/1/1 ms

On R2:

interface Ethernet0/0

ip vrf forwarding cu-red

ip address 192.168.2.254 255.255.255.0

Check reachability to SW3: R2#ping vrf cu-red 192.168.2.1 Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 192.168.1.1, timeout is 2 seconds:

> Use vrf cu-green for SW2 & SW4:

On R1:

interface Ethernet0/1

ip vrf forwarding cu-green

ip address 192.168.20.254 255.255.255.0

Test reachability to SW2: R1#ping vrf cu-green 192.168.20.1 Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 192.168.22.1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 1/1/1 ms

On R2:

interface Ethernet0/1

ip vrf forwarding cu-green

ip address 192.168.22.254 255.255.255.0

Test reachability to SW4: R2#ping vrf cu-green 192.168.22.1 Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 192.168.20.1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/favg/max = 1/1/1 ms

» OnR1:

interface Ethernet0/2.100 mpls ip

|

interface Ethernet0/2.200 mpls ip

!

Configure BGP:

router bgp 65000

neighbor 10.10.10.2 remote-as 65000

neighbor 10.10.20.2 remote-as 65000

!

address-family vpnv4 neighbor 10.10.10.2 activate
neighbor 10.10.20.2 activate exit-address-family

!

address-family ipv4 vrf cu-green redistribute connected
exit-address-family

!

address-family ipv4 vrf cu-red redistribute connected
exit-address-family

!

R1(config)#ip vrf cu-red

R1(config-vrf)#route-target both 65000:100

!

R1(config)#ip vrf cu-green

R1(config-vrf)#route-target both 65000:200

» OnR2:

interface Ethernet0/2.100

mpls ip

!

interface Ethernet0/2.200 mpls ip

!

router bgp 65000

neighbor 10.10.10.1 remote-as 65000

neighbor 10.10.20.1 remote-as 65000

!

address-family vpnv4 neighbor 10.10.10.1 activate
neighbor 10.10.20.1 activate exit-address-family

!

address-family ipv4 vrf cu-green redistribute connected
exit-address-family

!

address-family ipv4 vrf cu-red redistribute connected
exit-address-family R2(config)#ip vrf cu-red
R2(config-vrf)#route-target both 65000:100

!

R2(config)#ip vrf cu-green

R2(config-vrf)#route-target both 65000:200

2 Verification:

From SW1 to SW3: SW1#ping 192.168.1.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.1.1, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/favg/max = 1/1/1 ms
But can’'t Reach SW2 or SW4 in VRF cu-green: SW1#ping 192.168.22.1
Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.22.1, timeout is 2 seconds: U.U.U
Success rate is 0 percent (0/5)
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SWi#ping 192.168.20.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.20.1, timeout is 2 seconds: U.U.U
Success rate is 0 percent (0/5)

Same Test for SW2: From SW2 to SW4: SW2#ping 192.168.20.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.20.1, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/avg/max = 1/1/1 ms

But can't Reach SW3 or SW1 in VRF cu-red: SW2#ping 192.168.1.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.1.1, timeout is 2 seconds: U.U.U
Success rate is 0 percent (0/5)

SW2#ping 192.168.2.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.2.1, timeout is 2 seconds: U.U.U
Success rate is 0 percent (0/5)

Both R1 & R2 has separate tables for VRFs cu-red and cu-green.

NEW QUESTION 94
- (Exam Topic 3)
Refer to the exhibit.

f'l -..k'\. -.f.--...\
Contractors VLAN S Y w1l A

10,350/ "4 W, Jniisim iz e _fl‘,' Foarie
s - 235 4 \__ _._,-"'

= H1

e o e Dot iecioy | 1 Hdor B s 0 T 50 BT O SRR, Fase ]
o EngE Darg

mi TI
A E—
——

Hesiireng fppleation Seraer

An engineer is troubleshooting failed access by contractors to the business application server via Telnet or HTTP during the weekend. Which configuration

resolves the issue?

A)

R1

time-range Contractor
no periodic weekdays 8:00 to 16:30
periodic daily 8:00 to 16:30

B)

R4

time-range Contractor

no periodic weekdays 17:00 to 23:59
periodic daily 8:00 to 16:30

C)

B4

‘no access-list 101 permit tep 10.3.3.0 0.0.0.255 host 10.1.1.2 eq telnet time-range Contractor

D)
R1

‘no access-list 101 permit tcp 10.3.3.0 0.0.0.255 host 10.1.1.3 eq telnet time-range Contractor

A. Option
B. Option
C. Option
D. Option

Answer: A

NEW QUESTION 99
- (Exam Topic 3)
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Dz 3610

Router CSR301.ap.com

Device Health: 10

4 |
s#ah ip bgp 10.140.217.0/24

ish ip bgp 10.140.217.0/24
. t STET i
i L # ?., | " L 4 }

Refer to the exhibit. In Cuco DNA Center, a network engineer identifies that BGP-learned networks are repeatedly withdrawn from peers. Which configuration must

the engineer apply to resolve the Issue?
A)

router bgp 100
bgp graceful-restart

B)
router bgp 100
bgp dampening

C)

route-map Dampening permit 10

set dampening 15 750 2000 60

router bgp 100

neighbor 10.140.212.5 route-map Dampening in

D)

route-map Dampening permit 10

sel dampening 15 750 2000 60

router bgp 100

neighbor 10.140.212.5 route-map Dampeaning out

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 103
- (Exam Topic 3)
Which MPLS value is combined with the IP prefix to convert to a VPNv4 prefix?

A. 16-byte Route Distinguisher
B. 8-byte Route Target

C. 16-byte Route Target

D. 8-byte Route Distinguisher
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Answer: D

NEW QUESTION 104
- (Exam Topic 3)
Which routing protocol is used by the PE router to advertise routes to a CE router without redistribution or static after removing the RD tag from the P router?

A. IS-IS

B. OSPF

C. BGPIPv4
D. MP-BGP

Answer: C

NEW QUESTION 105

- (Exam Topic 3)

The network administrator configured the router for Control Plane Policing to limit OSPF traffic to be policed to 1 Mbps. Any traffic that exceeds this limit must also
be allowed at this point for traffic analysis. The router configuration is:

access-list 100 permit ospf any any
|

class-map CM-OSPF match access-group 100
|

policy-map PM-COPP class CM-OSPF

police 1000000 conform-action transmit
|

control-plane
service-policy output PM-COPP
The Control Plane Policing failed to monitor and police OSPF traffic. Which configuration resolves this issue?

no access-ist 100
access-ist 100 permit tep any any eq 179
access-list 100 permit ospf any amy
access-list 101 parmit tep any any range 22 23
1
;
class-map CM-MGMT

na match access-group 100

match access-group 101
1
cantrol-plane

na service-policy eutput PM-COPP
senvice-policy Input PM-COPP

L7

No access-list 100

access-list 100 permit tcp any any eqg 178
acceas-lst 100 permit top any any range eq 22
access-ist 100 permit tep any any range eq 23
accessdist 100 permit ospf any any

control-plans
na service-policy eutput PM-COPP
service-policy input FM-COPP

no access-ist 100

access-list 100 permit tcp any any eg 178
acceas-list 100 permit oapf any amy
accessdist 101 permit tcp any any range 22 23
1

1
class-map CM-MGMT

na match access-group 100
match access-group 101

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 110
- (Exam Topic 3)
Refer to the exhibit.
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Routersshow ip bop vpred rd 110007007 10.20.115.0623
SEP rowuling tatde entry for 110001001 .10.30, 1160623 version 267685275
=aths: (4 avadable, hest #6, no table)
Advertized 0 update-groups:
P2 3
[ER001 54955 65003} 6508%, (Received from a RR-dient)
1P TR 204 220 (metnc 20sd5) fram 172 Th 224 250 {17215 2248 286
origin IGE meme 0, iecalprer 100, vabkd, confed-infemal
Exlended Comrmunity. RT 11001001
mpds labels infouk nolabsl3s2
[ELUUE 54400 BLUWS ) BOUES
172 16 254 236 (mefric 20845) fram 10 1371 12371 (10131123 71)
Cirlgin 1GP, metric 0, lecalprer 100, vald, confed-extarnal
Exfended Community. RT1100; 1001
mps labels infout nolabslAEd
[BEO0T 54555 REINE) RA0HS
1T2.16. 254 226 (metrc 20645 trom 172 16 216253 {172.16.215.253}
Drigin WGF, metric 0, lecalprer 100, valid, confed-external
Extended Community: RT: 11001001
MpS [EDels Infout nolabslEEs
(65001 64855 65003, 65089
17216254 2245 (metric 20643 tram 17216 215,252 {172.16.216.252)
Crigin WGP, metric 0, localprer 100, valid, confed-exlemal
Extended Community” BT 11001001
Mpis Ehels Infaut nolabelrds?
(54955 G5003) 65005
IT216. 204,226 (metric 20645) Trom 10.77.255.57 (10.77.235.57)
Corigin WGP, rmetic 0, lecalpref 100, valid, confed-cxlemal
Extendad Community RT 110071001
mpls kabels Infout nolabel 262
(54955 55003 65085
17216254 226 (metiic 20645) from 106725511 (10,57 25511
Corigin ISP, metnic 0, localpref 100, vaid, confed-external, best
Cxtendad Community RT: 110001001
s [Ebels infoul nolaieras2

[E45955 55003 B508%5
TFE TR 20d 226 (metne QOE45) fram 172016 224 303 (1052 16 224 20h35)
Corigin 1GF metric 0, Iecalpred 100, valid, confed-exizmal
Extended Community RT_9100:1001
mpls labels in‘out nolabel 362
(=L0LE) BLlER
173 16 254 226 (mefnc 2064:5) from 172 16 254 2534 (172 16 254 234)
Crigin 15F, mietric 0, localpre? 100, vald, confed-cxlemal
Exterded Community RT1100; 1007
mpls [abels miout nolabel 362
G50A9, (Recahed fram a RR-cient)
1T G220 220 (Metric 20645) from 172016220225 (17216228 226)
Cirigin 1ZE, metric 0, lecalpref 100, wald, confed-extemal
Exterdded Commusnmy S10T1000 1007
mpls lahels minut nolabeli? T

An engineer configured BGP and wants to select the path from 10.77.255.57 as the best path instead
of current best path. Which action resolves the issue?

A. Configure AS_PATH prepend for the current best path

B. Configure higher MED to select as the best path

C. Configure AS_PATH prepend for the desired best path
D. Configure lower LOCAL_PREF to select as the best path

Answer: D

Explanation:

From the output, we learn that the current best path is from 10.57.255.11 (which includes “...valid, confed-external, best*) and this path is 2 ASes away (64955
65003). Although there are some paths

with only 1 AS away (path from 172.16.254.234 for example) but they were not chosen the best path so AS_PATH was not used to determine the best path ->
Answers A and answer C are not correct. All the paths in the output have metric of 0 and this is the lowest (best) value for this attribute. If we configure higher MED
then it is less preferred over other paths -> Answer B is not correct.

Only answer D is left but LOCAL_PREF attribute should be configured with higher value to be preferred so we hope “lower LOCAL_PREF” here means higher
value. But this is the best answer.

NEW QUESTION 115
- (Exam Topic 3)
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Hlgah track briasf

1 ip sla 10 reachability Doy

Rigshow ip sla configuration

IP SLAs Infrastructure Engine-TII

Entry mumbar: 10

Oumier ;

Tag:

Operacion timeout (milliseconds): 5000

Type of cparaticn to parform: icEp-acho

Target address/Sourecse interface: 10.10.10.10/GigabitEctharnatD/ 0
£

Bchedule:

Next Scheduled Start Time: Pending trigger

Croup Scheduled FALSE

Randomly Scheduled : FALSE

Life (seconds]: Forever

Entzy Agecut (seconds): never

PFacurzing (Scarcing Evsryday) : FTALSE

Status of encry (5P RowStatuas): Active
Threahold (milliseconds): 5000

Distributicn Statistice:

Track Typs Instance Faramater Stats Last Change

00:03:56d

Oparaticn freguency (ssconds) : €0 (not considersd 1f randemly schaduled)

Oparation timsout (millissconds) o0

Type of cparation to pazrform: icEp-echo

Target address/Scurce interface: 10.10.10.10/GigabitEche:netd/0
< >

Schedule:

Bext Scheduled Start Tims: Pending trigger
Group Schadulsd FALSE

Randomly Scheduled FALSE

Life (seconds): Forever

Entry Agsput (ssconds): neyger

Becurring {(Starcing Everyday) : FALSE
Status of sntry (SF RowStatus): Active

Threshold (milliseconds): 5000

Distributicn Stazistics

Refer to the exhibit A network engineer notices that the configured track option is down Which configuration resolves the issue*?

A. ip sla schedule 10 start-time now

B. ip sla schedule 10 start-time pending life forever
C. ip sla schedule 10 no timeout

D. ip sla schedule 10 no threshold

Answer: A

NEW QUESTION 117
- (Exam Topic 3)
Refer to the exhibit.
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An engineer configured NetFlow on R1, but the NMS server cannot see the flow from ethernet 0/0 of R1. Which configuration resolves the issue?

A. flow monitor Flowmonitorl source Ethernet0/0

B. interface Ethernet0/1ip flow monitor Flowmonitorl input ip flow monitor Flowmonitorl output
C. interface Ethernet0/Oip flow monitor Flowmonitorl input ip flow monitor Flowmonitorl output
D. flow exporter FlowAnalyzerl source Ethernet0/0

Answer: C

NEW QUESTION 121
- (Exam Topic 3)
Refer to the exhibit.

Reawshow funteng-con | secson ospl HIPLACw rundir]-Lonis | eclon cipl

ip 5ol | anea § piagl | Ared

I bspl 1 o § o osgll arma Y
rauler apl 1 ot (gl 1

10 Adjacency-LAanges aO-AGRANCY-CRasGes

D | Hub ho-ummary Med 1 80 A ummary
Riwshow ip oapl mierlace bred Riesnow ip oopd nderace el

serlace  PID Acea P AdmressMast Coit Sl Nees FC memsce P Ared  IPAMessMasL  Codt Samie Ny FG
Lol 1 1 100030 1 Lcp O Lol ! 1200 i f LEOP 00
Faln 1 T W00 1 DR ™ Lad 1 W00 Fee ¢ BDR b1
Rewshow runtend-conhy intertace LisiEsne 01 B mscni Punvendgconlg mbertac e LatFIhemal 10
Buddiy; confiquration Buiiang conbguraton
Cuenéni conhurangn | 116 byl Curenl Configaration 1% byt
| [
ek FRvEmemetln riertice FastEshemel1 0

ip e 0 10 10 1 255155 250 35 o B0deds 19 10 10 2 650 da il

ip md I n el ea |

ot 1 e 1 AT Bt
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end #nd
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Weghbod 10 P Sinde Déad Time  Addreds ishedace W0 R1e EXCHANMGEDR G000 % 1018501 Fasif memeti
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Which action restores OSPF adjacency between R1 and R2?

A. Change the IP MTU of R1 Fal1/0 to 1300
B. Change the IP MTU of R2 Fa0/0 to 1300
C. Change the IP MTU of R1 Fal/0 to 1500
D. Change the IP MTU of R2 Fa0/0 to 1500

Answer: D

NEW QUESTION 123
- (Exam Topic 3)
How is the LDP router ID used in an MPLS network?

A. The MPLS LOP router ID must match the IGP router ID.

B. If not configured, the operational physical interface is chosen as the router ID oven d a loopback is configured.
C. The loopback with the highest IP address is selected as the router ID

D. The force keyword changes the router ID to the speeded address without causing any impact.

Answer: D

NEW QUESTION 126
- (Exam Topic 3)
Refer to the exhibit.
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*Sep 26 19:50:43 504: SNMP: Packet received via UDPF from
192.168.1.2 on GigabitEthemetl/15rParseV35nmphMessage; No
matching Engine ID.

SrParseV3SnmpMessage: Failed.
SrDoSnmp: authentication failure, Unknown Engine |D

*Sep 26 19:50:43,504: SNMP: Report, reqid 29548, errstat 0,
arridx 0

intermet.65.3.15.1.1.4.0=3

*Sep 26 19:50:43,508: SNMP: Packet sent via UDP to 192.168.1.2
process mgmt_req_int: UDP packet being de-queued

Which two commands provide the administrator with the information needed to resolve the issue? (Choose two.)

A. snmp user

B. debug snmp engine-id
C. debug snmpv3 engine-id
D. debug snmp packet

E. showsnmpv3 user

Answer: AE

NEW QUESTION 127

- (Exam Topic 3)
ENGRP 10 SPE 10
Houtder & Houter B } Hrowdes |

Refer to the exhibit. An engineer configured route exchange between two different companies for a migration project EIGRP routes were learned in router C but no

OSPF routes were learned in router A. Which configuration allows router A to receive OSPF routes?

A. (config-router-af)#redistribute ospf 10 1000000 10 255 1 1500

B. (config-routeraf-topology)#redistribute ospf 10 metric 2000000 10 255 1 1500

C. (config-router-af-topology)#redistribute connected

D. (config-router-af-topology )£Eno redistribute ospf 10 match external 1 external 2 metric 2000000 10 2551 1500

Answer: B

NEW QUESTION 132
- (Exam Topic 3)

A company is expanding business by opening 35 branches over the Internet. A network engineer must configure DMVPN at the branch routers to connect with the
hub router and allow NHRP to add spoke routers securely to the multicast NHRP mappings automatically Which configuration meets this requirement at the hub

router?
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A}

interface TunnelO

ip address 10.0.0.1 255 255 2550
'p nhrp authentication KEY 1

p nhrp nhs dynamic

ip nhrp network-id 10

tunneal mode mgre auto

B)

imerface TunnelD

ip address 10.0.0.1 255 255 2550
P nhrp authentication KEY 4

ip nhrp registration no-unigque

Ip nhrp network-id 10

Tunnel mode gre nmba

o)

imerface Tunnel)
'p address 10.0.0.1 255.2565 255 0
ip nhrp authentication KEY 1
Ip nhrp map multicast dynamic
ip nhrp netwaork-id 10
tunnel mode gre multipoint

)

imerface Tunneld
ip address 10.0.0.1 255 255 255 0
ip nhrp authentication KEY1
ip nhrp map multicast 224.0.0.0
g nhrp network-id 10
tunnel mode gre ipvd

. Option A
. Option B
. Option C
. Option D

o0 w>

Answer: C
Explanation:

The command “ip nhrp map multicast dynamic” allows NHRP to automatically add spoke routers to the multicast NHRP mappings.

NEW QUESTION 136
- (Exam Topic 3)

AS 1000

(.10) i""&

Internet Cloud

192.168.101.0v24 192.168.102.0/24

As 100 (1)

192.168.1.0/24 192.168.2.0/24

AS 64555
v 2 EON
=m0 1)

Customer Edge

Refer lo Ihe exhibit. The Customer Edge rouler wants to use AS 100 as the preferred ISP for all external routes and ISP-2 as a backup.
Customer-Edge

route-map SETAS
set as-path prepend 111
I

router bgp 64555
neighbor 192.168.1.1 remote-as 100
neighbor 192.168.2.2 remote-as 200
neighbor 192.168.2.2 route-map SETAS in

After this configuration, all the backup routes have disappeared from the BGP table on the Customer Edge router. Which set of configurations resolves the issue

on the Customer Edge router?
A)
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route-map SETAS
set as-path prepend 111
|

router bgp 64555
neighbor 192.168.2.2 remote-as 100
neighbor 192.168.1.1 remote-as 200
neighbor 192.168.1.1 route-map SETAS in
B)
route-map SETAS
set as-path prepend 200
i

router bgp 64555
neighbor 192.168.1.1 remote-as 100
neighbor 192.168.2.2 remote-as 200
neighbor 192.168.2.2 route-map SETAS in
C)
route-map SETAS
set as-path prepend 200
|

router bgp 64555

neighbor 192.168.1.1 remote-as 100
neighbor 192.168.2.2 remote-as 200
neighbor 192.168.2.2 route-map SETAS out

D)

route-map SETAS
set as-path prepend 111
1

router bgp 64555

neighbor 192.168.1.1 remote-as 100
neighbor 192.168.2.2 remote-as 200
neighbor 192,168.2.2 route-map SETAS out

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 141
- (Exam Topic 3)
Refer to the exhibit.

ip prefix-list DMZ-STATIC seq 5 permit 10.1.1.0/24
!

route-map DMZ permit 10
match ip addresss prefix-list DMZ-STATIC
!
router ospf 1
network 0.0.0.0 0.0.0.0 area 0

redistribute static route-map DMZ
!

ip route 10.1.1.0 255.255.255.0 10.20.20.1

The static route is not present in the routing table of an adjacent OSPF neighbor router. Which action resolves the issue?

A. Configure the next hop of 10.20.20.1 in the prefix list DMZ-STATIC

B. Configure the next-hop interface at the end of the static router for it to get redistributed
C. Configure a permit 20 statement to the route map to redistribute the static route

D. Configure the subnets keyword in the redistribution command

Answer: D

NEW QUESTION 145
- (Exam Topic 3)
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10.255.235.1/32 10.235.233.3/32

A ¥ ¥ 3
10,0.12.0/24 10.0.23.0124

PE1l# show run | sec router bgp

router bgp 65000

bgp log-neighbor-changes

neighbor 10.255.255.3 remote-aa 65000

neighbor 10.255.255.3 update-source Loopback(
|ririt ms |

FEL{ debug ip top transactions
FEIf debwg ip iomp

ae nip
bFab 22 14:04:L3 T TCF: =onding 5¥nH mg ATHSLOT12, ck
"Fob 22 la:U4qsl F4 TCEU Tl Ao Ly, 2 Jrl?
advertising M5 1&
sFob 22 1l8i0dzl rg P 5

B, 255 205 J{173] ]

‘Febh 22 14p04:l3, 3781 ICHFPr dst {1d.

B xd unroachable rov from 1.

e rOQ LI NTEY TCRPOr ICHME dea

*Fob 22 14:04e:1l3, 3761 Roleased port Z13181 in Transport For't
AgenTt for TOP [P type 1 dalay 240000

iFeb 22 14:04:=L2.3THy TCEFl: atate was EYNSENT » CLOSED (21381
o L0, BEi. ImE Y {ITS] ]

~Fab 22 14:04:12.3T5: TCE OxE3LSASZEE desctesiyad

Refer to the exhibit. The administrator is troubleshooting a BGP peering between PE1 and PES3 that is unable to establish Which action resolves the issue?

A. P2 must have a route to PE3 to establish a BGP session to PE1

B. Disable sending ICMP unreachables on P2 to allow PEL1 to establish a session with PE3
C. Ensure that the PE3 loopback address is used as a source for BGP peering to PE1
D. Remove the traffic filtering rules on P2 blocking the BGP communication between PE1 and PE3

Answer: C

NEW QUESTION 147
- (Exam Topic 3)

R1#&show ip rip database
10000/8 auto-summary
101.1.0/24 directly connected, GigabitEthernat(/0
101.3.0/24

[2]via 101 12 2, 00:00:03, GigabitEthernet1/0
10112 0/24 directly connected, GigabitEthermneat1/0
10.1.23.0/24

[1]wia 101122, 00:00:03, GigabitEthernet1/0

Refer to the exhibit. A customer reports that networks in the 10.0.1.0/24 space do not appear in the RIP database. What action resolves the issue?

A. Remove summarization of 10.0.0.078.

B. Permit 10.0.1.0/24 address in the ACL.

C. Remove ACL on R1 blocking 10.0.1.0/24 network.
D. Configure 10.0.1.0/24 network under RIP.

Answer: A

NEW QUESTION 151
- (Exam Topic 3)
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Ri#show ipvl access.list

IPv& access list inbound-acl

deny Ipvi 2001:088::132 any (77 matches) sequence 40
permil ipv any (20 matches) sequence 1000
R1#ping ipvd 2001 :DB&.2

Type ascape sequence 10 abort.
Sending 5, 100-byte ICMP Echos to 2001:088::2, timeout is 2 seconds:

Guaranteed success with Our exam guides
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Success rate is 0 percent (05)

Ri#show ipus access.(ist

IPvi access list inbound-act
permit lop host 2001:088::2 eq bgp host 2001:088:1 (77 matches) sequence 20
permit iop host 2001:DB8::2 hast 2001:088::1 eq bgp (19 matchas) sequence 30
deny ipve 2001:DBB:/32 amy (85 malches) sequendce 40
permit ipvd any (23 matches) sequence 1000

Ri#

Refer to the exhibit. An engineer applied filter on R1 The interface flapped between R1 and R2 and cleaning the BGP session did not restore the BGP session and
failed Which action must the engineer take to restore the BGP session from R2 to R1?

A. Apply the IPv6 traffic filter in the outbound direction on the interface

B. ICMPv6 must be permitted by the IPv6 traffic filter

C. Enable the BGP session, which went down when the session was cleared.
D. Swap the source and destination IP addresses in the IPv6 traffic filter

Answer: B

NEW QUESTION 153
- (Exam Topic 3)
Refer to the exhibit.

Configuration Quiput:

A33 néw-model

#4243 Qroup Server 1acacs+ aomi:
SETVET name admin

|
ip 1acacs source-interace GigatatEtheme

2aa authentication login admin group tacacs+ local enable
AAA SE55:00-10 Common

|

lacacs senver admin

address p 1011156

key 7 OV1S0F16SEVCOTONZD

|

fine vty 0 4

iogin authentication aamin

Debug Quiput:

Oct 22 12738 57 587 AAABIND(DOO0001A) Bing 1

Oct 22 12 3857 587, AAAALTHENLOGIN (0000001A) Pick method lis! ‘admin

Oct 22 1238 57 587 ARAJAUTHENENABLE(DDOOD01A) Processing request action LOGIN
Oct 22 12 3857 587 ARAAUTHENENABLE(0000001A) Done status GET_PASSWORD
Oct 22 12 .39 02 327 AAAAUTHENENABLE(0000001A) Processing request action LOGIN
Oct 22 12:39.02 327, AAAAUTHENENABLE(ODOO001A) Done status FAIL - bad password

An administrator configured a Cisco router for TACACS authentication, but the router is using the local enable password instead Which action resolves the issue?

A. Configure the aaa authentication login admin group admin local enable command instead.

B. Configure the aaa authentication login admin group tacacs* local enable none command instead.

C. Configure the aaa authentication login admin group tacacs* local if-authenticated command instead.
D. Configure the aaa authentication login default group admin local if-authenticated command instead.

Answer: C

NEW QUESTION 154
- (Exam Topic 3)
Refer to the exhibit.

Mo exponior EXPORTER-1 |
chashnabon 172 16810 2
Bapart-pratoool reslfiow.-ve
bran=port udp 9

[ZET

|

flow reacord wd M1

martch iped fos.

iy iprvd DIOBGE e |
malch ipvd sowce address

natch ipv4 destinabon address

sl DiareSsoil Sdmr G- Do

match iransgort ches inalon-port

nlled counter nias lIong

Tl coumber packals kong

I

e mionidor FLOW MONITOR |
record w4 i

1

nbErace GagabiiE thamel 000

ip address 17316 6 2 255 255 2550

ip Moy rmonalior FIL O MDA TIOR - 1 Inp (
| |

An engineer configured NetFlow to capture traffic information through the router, but it iOS not working as expected. Which action captures the flow information
from this router to the collector?

A. Change the interface configuration FLOW-MONITOR-1 from input to output.
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B. Configure a flow exporter under flow FLOW-MONITOR-1.
C. Configure more than one flow exporter destination addresses.
D. Change the flow exporter transport protocol from UDP to TCP

Answer: B

NEW QUESTION 155
- (Exam Topic 3)
Refer to the exhibit.

192.1.20.0/24
» A2

- @

u A
LAY

*

192.1.10.0/24

u M
"L

B BE

192.1.30.0/24

> R3

An engineer must configure DMVPN Phase 3 hub-and-spoke topology to enable a spoke-to-spoke tunnel. Which NHRP configuration meets the requirement on

R6?

Interface Tunnal 1

ip address 192,168,1.1 255.255.255.0
tunnel source e 00

tunnel mode gre multipoint

ip nhrp network-id 1

interface Tunneli

ip nhrp authentication Cisco123
ip nhrp map multicast dynamic
ip nhrp network-id 1

ip nhrp holdtime 300

ip nhrp redirect

interface Tunneli

ip nhrp authentication Cisco123
ip nhrp map multicast dynamic
ip nhrp network-id 1

ip nhrp holdtime 300

ip nhrp shortcut

Interface Tunnel 1

ip address 192.168.1.1 255.255.255.0
tunnel source & 0N

tunnel mode gre multipeint

ip nhrp network-id 1

ip nhrp map 192,168.1.2 192.1.20.2

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 156
- (Exam Topic 3)
Refer to the exhibit.
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A network administrator must configure DMVPN tunnels between the hub and spoke with dynamic spoke-to-spoke tunnel capabilities using EIGRP. Which tunnel
interface command must the network administrator configure to establish an EIGRP peer?

A. no ip next-hop-self eigrp 1
B. ip next-hop-self eigrp 1

C. no Ip nhrp ntxt-hop-self
D. ip nhrp next-hop-self

Answer: C

NEW QUESTION 157
- (Exam Topic 3)
R1 and R2 are configured as eBGP neighbor , R1 is in AS100 and R2 is in AS200. R2 is advertising these networks to R1:

The network administrator on R1 must improve convergence by blocking all subnets of 172-16.0.0/16 major network with a mask lower than 23 from coming in,
Which set of configurations accomplishes the task on R1?

A. ip prefix-list PL-1 deny 172.16.0.0/16 le 23 ip prefix-list PL-1 permit 0.0.0.0/0 le 32!router bgp 100neighbor 192.168.100.2 remote-as 200 neighbor
192.168.100.2 prefix-list PL-1 in

B. ip prefix-list PL-1 deny 172.16.0.0/16 ge 23 ip prefix-list PL-1 permit 0.0.0.0/0 le 32!router bgp 100neighbor 192.168.100.2 remote-as 200 neighbor
192.168.100.2 prefix-list PL-1 in

C. access-list 1 deny 172.16.0.0 0.0.254.255 access-list 1 permit any!router bgp 100neighbor 192.168.100.2 remote-as 200neighbor 192.168.100.2 distribute-list 1
in

D. ip prefix-list PL-1 deny 172.16.0.0/16 ip prefix-list PL-1 permit 0.0.0.0/0'router bgp 100neighbor 192.168.100.2 remote-as 200 neighbor 192.168.100.2 prefix-list
PL-1in

Answer: A

Explanation:

“Blocking all subnets of 172.16.0.0/16 major network with a mask lower than 23 from coming in” would block 172.16.16.0/20.

The first prefix-list “ip prefix-list PL-1 deny 172.16.0.0/16 le 23" means “all networks that fall within the 172.16.0.0/16 range AND that have a subnet mask of /23 or
less” are denied.

The second prefix-list “ip prefix-list PL-1 permit 0.0.0.0/0 le 32" means allows all other prefixes.

NEW QUESTION 159
- (Exam Topic 3)

Flé#show time-range

time-range entry: timer (active)
pericodic weekend 9:00 to 17:00
used in: IP ACL entry
used in: IP ACL entry

Rl1#show ip access-list interface gig0/0

Extended IP access list NO Internet in
10 deny tcp any any e€g www time-range timer (active)
20 deny tcp any any eg 443 time-range timer (active)
30 permit 1p any any
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Refer to the exhibit. Users on a call center report that they cannot browse the internet on Saturdays during the afternoon. Which configuration resolves the issue?
A)

interface gig0/0

ip access-group NO_Internet out

B)

ip access-list extended NO_Internet
15 permit tcp any any eq www

C)

no time-range timer

D)

time-range timer
no periodic weekend 9:00 to 17:00
periodic weekend 17:00 to 23:59

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 160
- (Exam Topic 3)
Refer to the exhibit.

B2 show ip ospf neighbor

Nalighbor 1D Pri Stata Dead Timo Addross Intarfacn
192 .168.99.2 1 EXCHANGE /S - 00:00:36 192 . 168.99.1 Serial0d/]
router-6#

B3l show ip ospf neighbor

Nelghbor ID Pri State Dead T3 mae Addraess Interface
192 .168.99.1 1 EXSTARTS - 00:00:33 192.168 .99 .2 Serialo/l
192.168.99.1/30 192.168.99.2/30

soM T s0/4
: S e

G0/0
10.1.11.1/30

10.1.11.2/30
G0/0

An OSPF neighbor relationship between R2 and R3 is showing stuck in EXCHANGE/EXSTART state. The neighbor is established between R1 and R2. The
network engineer can ping from R2 to R3 and vice versa, but the neighbor is still down. Which action resolves the issue?

A. Restore the Layer 2/Layer 3 conectivity issue in the ISP network.
B. Match MTU on both router interfaces or ignore MTU.

C. Administrative "shut then no shut" both router interfaces.

D. Enable OSPF on the interface, which is required.
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Answer: B

Explanation:

After two OSPF neighboring routers establish bi-directional communication and complete DR/BDR election (on multi-access networks), the routers transition to the
exstart state. In this state, the

neighboring routers establish a master/slave relationship and determine the initial database descriptor (DBD) sequence number to use while exchanging DBD
packets.

Neighbors Stuck in Exstart/Exchange State

The problem occurs most frequently when attempting to run OSPF between a Cisco router and another vendor’s router. The problem occurs when the maximum
transmission unit (MTU) settings for neighboring router interfaces don’t match. If the router with the higher MTU sends a packet larger that the MTU set on the
neighboring router, the neighboring router ignores the packet.

NEW QUESTION 165
- (Exam Topic 3)

R1#show bgp ipv6 unicast 2001:db8::1/128
BGP routing table entry for 2001:db8::1/128, version 3
Paths: (1 available, best #1, table Global-IPv6-Table)
Not advertised to any peer
Local
2001:db8:33:33::33 (metric 128) from 2001:db8:11:11::11 (1.1.1.1)
Origin IGP, metric 0, localpref 100, valid, internal, best
Originator: 3.3.3.3, Cluster list: 1.1.1.1

Refer to the exhibit. An engineer examines the BGP update for the IPv6 prefix 2001:db8::1/128. which should have been summarized into a /64 prefix. Which
sequence of actions achieves the summarization?

A. R1is a route reflector client of a RR with a router ID of 1.1.1.1. and the originator of the prefix has a router ID of 3.3.3.3. Both routers belong to different AS

B. The prefix is not advertised to any peer and must be advertised using the network statement on R3.

C. Rl is a route reflector with a router ID of 3.3.3.3. and the originator of the prefix is a route reflector client, which has a router ID of 3.3.3.3. Both routers belong to
the same AS Configure an aggregate address on the router with ID 1.1.1.1 for the prefix

D. R1 is a route reflector with a router ID of 1.111. and the originator of the prefix is a route reflector client, which has a router ID of 3.3.3.3. Both routers belong to
the same AS Configure an aggregate address on the router with ID 1.1.1.1 for the prefix

E. R1 is a route reflector client of a RR with a router ID of 1.1.1.1. and the originator of the prefix has a router ID of 3.3.3.3. Both routers belong to the same A

F. Configure an aggregate address on the router with ID 3 3.3.3 for the prefix.

Answer: D

NEW QUESTION 167

- (Exam Topic 3)

Refer to the exhibit.

HE# show running-config

interface sthoernetldy/

EE# show ipwée cef ::/0
" :._.'||

oYy EhRor "'"'.'..';:.I_'.'.

. 1 [ =
IO VUL s DD s L L& el &

T
-
4

After a security audit, the administrator implemented an ACL in the route reflector. The RR became unreachable from any router in the network. Which two actions
resolve the issue? (Choose two.)

A. Enable the ND proxy feature on the default gateway.

B. Configure a link-local address on the Ethernet0/1 interface.

C. Permit ICMPV6 neighbor discovery traffic in the ACL.

D. Remove the ACL entry 80.

E. Change the next hop of the default route to the link-local address of the default gateway.

Answer: CD

NEW QUESTION 171
- (Exam Topic 3)
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Which two protocols are used by a P router to transfer VPN traffic between PE routers in an MPLS network? (Choose two.)

A. BGP

B. OSPF
C. MP-BGP
D. LDP

E. RSVP

Answer: CD
NEW QUESTION 174

- (Exam Topic 3)
Refer to the exhibit.

Ipv6 inspect udp idle-time 3600
ipv6 Inspect name 1pv6-firewall tcp
Ipv6 inspect name 1pv6-firewall udp

Ipvb access-list ipv6-internet

deny ipv6 any FECO. /10

deny ipv6 any FFO0 /8

permit ipv6 any FF02 /16

permit ipv6 any FFOE /16

permit udp any any eq domain log

Interface gi0/1

ipv6 traffic-filter ipv6-internet in
Ipvb inspect ipve-firewall in
ipvb inspect ipvb-firewall out

A network administrator configured name resolution for IPv6 traffic to be allowed through an inbound access list. After the access list is applied to resolve the
issue, name resolution still did not work. Which action does the network administrator take to resolve the name resolution problem?

A. Remove ipv6 inspect ipv6-firewall in from interface giO/1

B. Add permit udp any eq domain any log in the access list.

C. inspect ipv6 inspect name ipv6-firewall udp 53 in global config.
D. Add permit any eq domain 53 any log in the access list.

Answer: A

NEW QUESTION 175
- (Exam Topic 3)

Which two technologies optimize MPLS infrastructure using bandwidth protection services when experiencing slow response7 (Choose two.)

A. IPLFA

B. MPLS OAM
C. VPLS

D. SO-MPLS
E. Fast-Rwoute

Answer: AE

NEW QUESTION 177
- (Exam Topic 3)

The network administrator is tasked to configure R1 to authenticate telnet connections based on Cisco ISE using RADIUS. ISE has been configured with an IP
address of 192.168.1.5 and with a network device pointing towards R1 (192.168.1.1) with a shared secret password of Ciscol123. If ISE is down, the administrator

should be able to connect using the local database with a username and password combination of admin/cisco123.
The administrator has configured the following on R1:
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aaa new-model
]

=

username admin password cisco123
I

l-'adius server ISE1
address ipv4 192.168.1.5
key Cisco123

!

aaa group server tacacs+ RAD-SERV
server name ISE1
I

aaa authentication login RAD-LOCAL group RAD-SERV

ISE has gone down. The Network Administrator is not able to Telnet to R1 when ISE went down. Which two configuration changes will fix the issue? (Choose two.)
linevty 0 4
login authentication RAD-LOCAL

“linevty 04
login authentication default

linevty 0 4
login authentication RAD-SERV

aaa authentication login RAD-SERV group RAD-LOCAL local

_ aaa authentication login RAD-LOCAL group RAD-SERV local

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: CE
NEW QUESTION 178

- (Exam Topic 3)
Refer to the exhibit.

' ‘" 19 H-ﬂ;ﬂ 008 BOMNST state: 10.10,10.3 weat from nsf not aotiwd to

53243 006 n::r 10, 38700. 3 went from Establishadl to Idle
00:53:43. 006 BGP- 5-RDICHANGE - naighbor 10.10.10.3 Down Usar resst
19 00:53:43.006: m 10.10.10.3 cloaing

*npunnniami RGP Routar:

unhandled major avent oode 178, minor 0

[aDbshow 1p Bgp peighbors 10.10.10 2
Iﬂnig‘ﬂ:ncum 10.10.2, remole AS 65101
BGF wersion 4, remote router ID 0.0 0 ¢
BGP gtate = Actiwe
3abt'read 00:01:35, last writs 00:01 35, bold time is {¥0, keepalive
YRtarval is 60 seconds '
Defanit minimom time Detween advertisement runs is 30 seconds
Mdreps tzacking is enabled, the RIE does have a rogte to 10.10.10.2
Connactions estah]ished 11 dropped 11
Last reset 00:01:36, duoe to Peer clossd the seasion
~ Extaraal BCP nelghbor may be up to 3 hope  away
fransport (top) path-mtun-disoowery anahled
u?_*&i‘ ™T™TP ooamnect \op
) e 5 4

A NOC team receives a ticket that data traffic from RA to RF is not forwarded when the link between the RC-RE path goes down. All routers learn loopback IP
through the IGP protocol. Which configuration resolves?

. axtearnal link

A. RD(config)#router bgp B5201RD(config-router)# neighbor 10.10.10.2 update-source loopback 0
B. RD(config-router)# neighbor bgp 65101RB(config-router)# neighbor 10.10.10.3 ebgp-multihop 3
C. RB(config)# router bgp 65101RB(config)#neighbor 10.10.10.3 update-source loopback 0

D. RD(config)# router bgp 65201RDI(config-router)# neighbor 10.10.10.2 ebgp-multihop 3

Answer: B

NEW QUESTION 179
- (Exam Topic 3)
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Router A Router B
—a N L] GO0 ._"F-
-
GO0M A
EIGRP CCNP
Met 158,118.133.0
GO0 2
(L
Router C

RouterA¥sh ip eigrp interfaces gigabitEthernet 0/0/1
EIGRP-IPvd Interfaces for AS(1)

mit Queus Pear( Mesarn Pacing Time Multicast Pending
Interface Pears Un/Reliable Un/Reliable SETT Un/Reliable Flow Timer Routes
EIGRF-IPvd VR(CCONP) Address-Family Interfaces for AS(100)

Xmit Queus PFeerQ Mean Faci ng Time Multicast :Pnn.d.j.nq
Interface Fears Un/RBeliable Un/AEsliabkle SKTT Un/Eeliable Flow Timer Houtes
Gi0/0/1 o a/0 ofo 4] o/ 50 o

Routeri®

Refer to the exhibit EIGRP adjacency between router A and router C is not working as expected Which two configurations resolve the issue? (Choose two )

A)

Router C
router eigrp CCNP
address-family ipv4 unicast autonomous-system 100
topology base
exit-af-topology
network 198.18.133.0
exit-address-family

B)

Router C
router eigrp CCNP
address-family ipv4 unicast autonomous-system 100
af-interface GigabitEthernet0/0/0
hold-time 90
exit-af-interface
topology base
exit-af-topology
exit-address-family

C)

Router A
router eigrp CCNP

address-family ipv4 unicast autonomous-system 100
af-interface GigabitEthernet(/0/1

hello-interval 15

topelogy base

exit-af-topology

network 192.18.133.0

exit-address-family

D)

Router A
router eigrp CCNP
address-family ipv4 unicast autonomous-system 100
topology base
exit-af-topology
network 198.18.133.0
exit-address-family

E)

Router A
router eigrp CCNP
address-family ipv4 unicast autonomous-system 10
af-interface GigabitEthernet0/0/1

hello-interval 15

hold-time 90

exit-af-interface

topology base

exit-af-topology

network 198.18.133.0
exit-address-family

A. Option A
B. Option B
C. Option C
D. Option D
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E. Option E
Answer: BC
NEW QUESTION 183

- (Exam Topic 3)
Refer to the exhibit.

|
frak 700 bp sla TO3
|

ipsla F0O

threshold 100

*Mow 18 15:32:59,950 vrackc-sta (700} ip sla PO state Up -> Down

*hoe 18 15:39:04 065 veasck-sra [F00) ip sha 700 9100e Down -> Up

Hidih ip slasu
IPSLAL Late st Operatlen Sammary
Codes: * active, ™ inactive, = pending

(il Typr  Destimation  51ats  Acturn Last
{rrdl Coide R

0 iemp-eche 106666 66 RTT=1 1.4 A decdrdd ago

EQy1 m T 01
o H}' :l:m.is!..mmzzs.rm — 209.165.200.229/30 | N A
‘ ‘ EDyO {J_..--"‘_IIEP i . T ED/fO r K
A 109.165.200.1/30 ———e— TS TEST0LE/M0
10,66 66,66 HE Rl
i R1F

o route DOGE b6 D 20% 250 Joh 0 102 2.4 track JOO ) | *Mow 18 15:38:59,9%56: wack-sta (P00} Change B ip sla TO0, state Up->Down
ip route D0UGE GE.0 255 255 2550 10.1.1.3 X0 *Mow 18 15:38:59.0506: MTRACK-6-5TATE: T00 ip ola 700 vtate Up -> Down

*Mow 18 15:38:59.9%6: trsck-que | MXO) Cuewng CHARGED chent event for Static IP Routing
"how 18 15:32:59 956 vrack-que | MO} Urquewing CHARGED chent event for Static IP Bouting
*how 18 15:39:0d4 065 veach-sta [F00) Change 03 ip sla TOO0, state Dawen-»Lip
Lmp-eche 10066 6566 source-ip 10.10.10.1 “How 18 15:39:04,965 RTRACK-G-5TATE: 700 wp sla P00 stato Down = Ug

Trequenty 5 *How 18 15:39:04,965 tracic-que | M0} Quewing CHAMNGED chent ewent for Static IP Routing
wp wla schedule 730 lile lorever start-time now *Mow 18 15:39:04.06G0: vrack-que | F00) Unguewing CHARGED cleent ewent for Static 1P Routing

R1 is configured with IP SLA to check the availability of the server behind R6 but it kept failing. Which configuration resolves the issue?

A. R1(config)# ip sla 700R1(config-track)# delay down 30 up 20
B. R1(config)# ip sla 700R1(config-track)# delay down 20 up 30
C. R1(config)# track 700 ip sla 700 R1(config-track)# delay down 30 up 20
D. R1(config)# track 700 ip sla 700 R1(config-track)# delay down 20 up 30

Answer: C

NEW QUESTION 188
- (Exam Topic 3)

(£
10 40 00420

EZ#sho run | sec router
routar aigrep 100
redistribute capf 100 metric
1 10000 200 200 1500
network 10.20.0.0 0.0.0.
network 172.16.23.0 0.0.
Aulo- SUmme ry

router ospf 100
router-id 2.2.2.2
loeg-adjacency-changes
redistribute aigrep 100

metric 15000 subnests
network 10.20.0.0 0.0.0.3
area 0

R2¥

3
0.3

182 168 200 024

Rl

Rl#sho ron | s&o Foutar

router sigrp 100

redistribute rip metric 1 10 255 255 1300
mnatwork 10.0.0,0

AULo - 5 Umna ry

eligrp router-id 1.1.1.1

routar ospf 100

routar-id 1.1.1.1
log-adjacency-changes

network 10.20.0.0 0.0.0.3 area 0
router rip

redistribute aigrp 100 metric 1
network 10.0.0.0

mR1w

Refer to the exhibit The route to 192 168 200 0 is flapping between R1 and R2 Which set of configuration changes resolves the flapping route?

RZ(config#router ospf 100

F2{config-router#ne redistribute eigrp 100
R2i{config-router wredistribute eigrp 100 metric 1 subnets

R1{config®no router rip

R1(config)#ip route 192.168.200.0 255.256.255.0 10.40.0.2

RZ{config mrouter eigrp 100

R2{config-router jEne redistribute espf 100
R2iconfig-router 2redistribute rip

R1{config =router ospf 100

Ri{config-routerEredistribute rip metric 1 metric-type 1 subnets
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 190
- (Exam Topic 3)

*Sep 3231922 943 EIGRP: New peer 10121

"Sep 3 2318 21 264 EIGRP. Neaghbor (10.1 2.182) not yal found

"Sep 3 231018 675 Gong down Peer 101 2.1 total=2 stub (0, ndb-stub=0 id-all=0
"Sep 3 231018 675 EIGRP Handke deallocation fakure [1)

"Sap 3231018 675 EIGHP Nesghbor 10.1 2 1 went dewn on Tunneld

"Sep 3231022 043 %DUAL-5-NBRCHANGE EIGRP-IPyd 3111 Newghbor 101 2.1 (Tunnel) 5 up. new adacency

Refer to the exhibit. Which configuration command establishes an EIGRP neighbor adjacency between the hub and spoke?

A. connected 10.1.2.192 command on spoke router
B. network 10.1.2.192 command on spoke router

C. eigrp-peer 10.1.2.192 command on the hub router
D. neighbor 10.1.2.192 command on hub router

Answer: D

NEW QUESTION 195
- (Exam Topic 3)

Rag

interface FastEthernet1/0

ip address 10.1.1,14 255.255.255.252
ip access-group VENDOR in

ip authentication mode eigrp 100 mds

speed 100
full-duplex
|
interface loopback 100

ip address 10.199.100.1 255.255.255.255
I
router eigrp 100

network 10.1.1.8 0.0.0.3

network 10.1.1.12 0.0.0.3

N auta-summany

elgrp router-id 100.4.4.4

neighbor 10.1.1.13 FastEthernet1/0
redistribute connected

[
router bgp 65001

no synchronization

bgp log-neighbor-changes

network 100 4 4.4 mask 255.255.255.255
neighbor 10.1.1.13 remote-as 63001

No aulo-summany

I
ip access-list extended WVENDOR

!
time-range VENDOR_ACCESS
periodic weekend 22:00 10 23:00

ip authentication key-chain eigrp 100 EIGRPKEY

permit top 192.168.32.0 0.0.7 253 host 10.198.100.1 eq 22 time-range VENDOR_ACCESS

Refer to the exhibit A network engineer received a call from the vendor for a failed attempt to remotely log in to their managed rooter loopback interface from 192

168.40 15 Which action must the network engineer take to resolve the issue?

A. The IP access list VENDOR must be applied to interface loopback 100

B. The time-range configuration must be changed to use absolute instead of periodic

C. The EIGRP configuration must be updated to include a network statement for loopback 100
D. The source IP summarization must be updated to include the vendor source IP address

Answer: C

NEW QUESTION 200
- (Exam Topic 3)
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P— — p—

Hub Spoke
Tunnel 0 Tunnel 0
10.0.80.1 10.0.80.2

10.2 100.0/24 i I

10.92.18.0/30 0.5490/30

Tunnel 0
10.0.80.3

! J 10.3.100.0/24
FNT ERNET F42/010  Felj0.A -
&1/0

Refer to the exhibit An engineer must connect the Reno and Detroit spokes using DMVPN phase 2 Hub tunnel configuration is

R SRR SR L
Dallas

Interface Tunnel0

ip address 10.0.80.1 255.2585.255.0

ip nhrp authentication cisco123

ip nhrp map multicast dynamic

ip nhrp network-id 5

tunnel source Serial0/0

tunnel mode gre multipoint

Which configuration accomplishes the task?

Rend

interface Tunnell

ip address 10.0.80.3 285.255.2585.0
ip nhrp authentication ciscol21
ip nhrp map multicast 10.92.18.2
ip nhrp map 10.0.80.1 10.92.18.2
ip nhrp network-id §

ip nhrp nhs 10.0.80.1

twnnel source 10.238.194.2

tunnel mode gre multipoint

Detron

interface Tunnel0

ip address 10.0.80.4 255 255.255.0
ip nhrp authentication ciscol21
ip nhrp map 10.0.80.1 10.92.18.2
ip nhrp map multicast 10.92.18.2
ip nhrp network-id 5

ip nhrp nhs 10.0.80.1

tunnel source 10.7.44.2

tunnel mode gre multipoint

Reno

interface TunnelD

ip address 10.0.80.3 255.255.255.0
ip nhrp authentication cisco123
ip nhrp map multicast 10.92.18.2
ip nhrp map 10.92.18.2 10.0.80.1
ip mhrp network-id §

ip nhrp nhs 10.0.80.1

tunnel source 10.238.184.2

tunnel mode gre multipolnt

Detron

interface Tunne!D

ip address 10.0.80.4 255.255.255.0
ip nhrp authentication ciscoi123
ip nhrp map 10.92.18.2 10.0.80.1
ip nhrp map multicast 10.92.18.2
ip nhrp network-id §

Ip nhrp nhs 10.0.80.1

tunnel source 10.7.44 2

tunnel mode gre multipolnt
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Heng
interface Tunnel0
ip address 10.0.80.3 255 255.256.0
ip nhrp authentication cisco123
ip nhrp map broadcast 10.92.18.2
ip nhrp map 10.0.80.1 10.92.18.2
ip nhrp network-id §
ip nhrp nhs 10.0.80.1
tunnel source 10.238.194.2
tunnel mode gre multipoint

Dietrost
interface Tunnel0
ip address 10,0.80.4 255.255.265.0
ip nhrp authentication cisco123
ip nhrp map 10.0.80.1 10.92.18.2
ip nhrp map broadcast 10.92.18.2
ip nhrp network-id 8
ip nhrp nhs 10.0.80.1
tunnel source 10.7.44.2
tunnel mode gre multipoint

Reno

interface Tunnell

ip address 10.0.80.3 255.255.285.0
ip nhrp authentication cisco123
ip nhrp map multicast 10.92.18.2
ip nhrp map 10.0.80.1 10.92.18.2
Ip nhrp network-id §

Ip nhrp nhs 10.0.80.1

twnnel source 10.238.194.2

tunnel mode gre multpoint

Destrost
interface Tunnel0

ip address 10.0.80.4 255.255.255.0
ip nhrp authentication cisco123
Ip nhrp map 10.0.80.1 10.92.18.2
ip nhrp map multicast 10.92.18.2
ip nhrp network-id 5

ip nhrp nhs 10.0.80.1

tunnel source 10.7.44.2

tunnel mode gre multipoint

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 201
- (Exam Topic 3)
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Ri#show ip flow export
Flow export v9 is enabled for main cache
Export source and destination details
VRF ID : Default
Source (1) 10.0.0.10 (GigabitEthernet2/0)
Destination(l) 192.168.10.1 (656)
Version 9 flow records
254 flows exported in 41 udp datagrams
0 flows failed due to lack of export packet
0 export packets were sent up to proocess level
41 export packets were dropped due to no fib
0 export packets were dropped due to adjacency issues
0 export packets were dropped due to fragmentation failures

Ri#show ip flow interface
GigabitEthernet2/0
ip flow ingress

10.10.10.
NOC 2 1n.mlm.1
N Doy
. 10.10.10.4
GE2SO
GEDJO GEL/0 d
a0/ A m
ol 0/0

10.10.10.3 10.10.10.5

0 export packets were dropped due to encapsulation fixup failures

Data center

U . - . ' 192.168.10.1

Refer to the exhibit An enterprise operations team must monitor all application server traffic in the data center The team finds that traffic coming from the hub site
from R3 and R6 rs monitored successfully but traffic destined to the application server is not monitored Which action resolves the issue?

A)

Ré4(config#int gigabitEthernet 10
R4(config-T%ip flow ingress

B)

R1({config #int gigabitEthernet 0/0
R1{config-if=ip flow egress
C)
R4(config=int gigabitEthernet 20
R4(config-=ip flow egress
D)
R3(config =int gigabitEthernet 0/0
R3(config-if=ip flow egress

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 206
- (Exam Topic 3)

A customer is running an mGRE DMVPN tunnel over WAN infrastructure between hub and spoke sites. The existing configuration allows NHRP to add spoke
routers automatically to the multicast NHRP mappings. The customer is migrated the network from IPv4 to the IPv6 addressing scheme for those spokes’ routers
that support IPv6 and can run DMVPN tunnel over the IPv6 network. Which configuration must be applied to support IPv4 and IPv6 DMVPN tunnel on spoke

routers?

A. Tunnel mode ipv6ip 6to4

B. Tunnel mode ipv6ip isatap

C. Tunnel mode ipv6ip auto-tunnel
D. Tunnel mode ipv6ip 6rd

Answer: C

NEW QUESTION 207
- (Exam Topic 3)
What is considered the primary advantage of running BFD?
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A. reduction in time needed to detect Layer 2 switched neighbor failures
B. reduction in time needed to detect Layer 3 routing neighbor failures
C. reduction in CPU needed to detect Layer 2 switch neighbor failures
D. reduction in CPU needed to detect Layer 3 routing neighbor failures

Answer: B
NEW QUESTION 209

- (Exam Topic 3)
Refer to the exhibit.

Ri2gsh ip routs

Codes: L - connected, 5 - static, R - RIP, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - O5PF, IA - OSPF inter area
H1 - OSPF NSS4 external type 1, N2 - OSPF NSS4 external type 2
El - OSPF external type 1, E2 - O5PF external type 2
i - I5-15%;, su - 1%-15 sumsary, L1 - I%-I% lewel-1, L2 - I5-15% level-2
ia IS-1I% inter area, * candidate default, U - per-user static route
o - 0DR, P - periodic downloaded static route

Gateway of last resort is not set

-~

192.168.18.8/24 15 directly connected, Seriallse
172.16.0.8/16 is variably subnetted, 5 subnets, 2 masks
172.16.160.8/19 1s directly connected, Loopbackl
172.16.128.2/19 is directly conmected, Loopbacke
172.16.224.2/1% is directly connected, Loopback3
172.16.192.8/19 is directly connected, Loopback?
172.16.8.9/16 is a sumsary, 03:81:27, Hull@

C
C
L
C
I

An engineer must configure EIGRP between R1 and R2 with no summary route. Which configuration resolves the issue?
A)

R1(config)}*router eigrp 1
R1(config-router#no auto-summary
B)

R2 (config)#router eigrp 1

R2 (config-router#no auto-summary
C)

R2 (config)#router eigrp 1

R2 (config-router Fauto-summary
D)

R1(config)#router eigrp 1
R1(config-router Fauto-summary

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 210
- (Exam Topic 3)
What are two characteristics of a VRF instance? (Choose two)

A. It is defined by the VPN membership of a customer site attached to a P device.
B. Each VRF has a different set of routing and CEF tables.

C. All VRFS share customers routing and CEF tables.

D. An interface must be associated to one VRF

E. A customer site can be associated to different VRFs.

Answer: BD

NEW QUESTION 211
- (Exam Topic 3)
Refer to the exhibit.
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s 5W2

R1

i —
EOY3 o I
VLANIO

| F—
—

NM5 Server
10,221.10.11

Cone_Swilb
access-list 11 parmit 10.221.10.11

acceis-list 20 permit 10.221.10.10

access-list 22 permit 10.221.10.12

i

snmp-server group NETWVIEW v3 priv read NETVIEW access 20

snmp-server group NETADMIN v3 prwv read METVIEW write KETADMIN access 20

snmp-Server commumnity CiscOUs3r RO 20
snmp-server communily CiscOwruiir RW 20

An engineer configured SNMP communities on the Core_SW1, but the SNMP server cannot obtain information from Core_SW1. Which configuration resolves this

issue?

A. snmp-server group NETVIEW v2c priv read NETVIEW access 20
B. access-list 20 permit 10.221.10.11
C. access-list 20 permit 10.221.10.12

D. snmp-server group NETADMIN v3 priv read NETVIEW write NETADMIN access 22

Answer: B

NEW QUESTION 214
- (Exam Topic 3)

Crontnmar BEC BGP Pesrng ! BGP AR
Q4PFy2 IPvl

[ J]

L

. |

R2fsh ip bgp ipv6 uni
BGF table versicn is 45, local router ID is 2.2 22.22

RGP AS 400 h [ i BOP AL 2
o G e Ei W () i aEFIIPE
o o : .
r HJ. i ‘;“ s E '
| RN s T :
] ; Fd b : :

i 5 |
o —— (i e —

_

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, § Stale, m multipath, b backup-path, f RT-Filter,

¥ best-external, a additional-path, ¢ RIB-compressed,

t secondary path,
Origin codes: i - IGP, & - EGP, ? - incomplete
RPEI wvalidation codes: V valid, I invalid, N Mot found

t secondar! I
Crigin codes: 1 - IGF, e - EGF, T - incomplete
REEI validation codes: WV valid, I invalid, W Mot found

Hetwork Hext Hop Metric LocPrf Waight Path
*> 2001::5/128 2001::5 0 0 300 200 1
*> 2001::4/128 2001::4 o 0 300 2
> 2002::2/128 i o 32768 i

R2#sh run | section bgp
router bgp 100
address-family ipvé
neighbor 2001::4 route-map Filter in

ip as-path access-list 1 permit 300 _[0-9]

route-map Filter permit 10
match as-path 1

Refer to the exhibit R2 has been receiving routes from R4 that originated outside AS300 A network engineer configured an AS-Path ACL to avoid adding these

routes to the R2 BGP table but the routes are still present in the R2 routing table Which action resolves the issue?

A. Replace as-path access-list 1 with the ip as-path access-list 1 permit A300$ command
B. Replace as-path access-list 1 with the ip as-path access-list 1 permit ..300." command
C. Replace as-path access-list 1 with the ip as-path access-list 1 permit A300_ command.
D. Replace as-path access-list 1 with the ip as-path access-list 1 permit A300." command

Answer: B

Guaranteed success with Our exam guides

visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 300-410 dumps!
r_' CEFtSharEd https://www.certshared.com/exam/300-410/ (530 Q&AS)

NEW QUESTION 216
- (Exam Topic 3)

Houterdahow ip Bgp wpawd rd 1000 1001 10 20 118 02]

BGP ropbng Labse eotry for 1700 1001 1030116 073 verson 28T TS
Faths (9 svalable bes! P8 no Tahie

Adyertded 1o uDdabe -Jioubd

1 i |
G500 1 E4055 AL00 ) AS0E% (Recereed Wom 4 RN -chenl

172 18 254 2.6 (matnic. 20645 ) from 172 18 224 208 (172 16 224 238
'_":I"'l WP maing ﬂil.‘_ﬂ'l 100 walsl coried-mbdng

Evienaded Comemuenidy BT 1100 1001
mipis labals n'oul nolabat 367

85008 44955 85003 85089

158 1 258 200 (i, JOS% ) mem 10 137 123 F1090 137 023 71
g IGP matne ) iocaiprel 100 vald corbed saema
Esténaed Commanty FT 1700 7001

mipt Labssis 'l nodabat 362

A0 E405%% AL0 T ALOED

172 98 254 228 (mabng 20845) feom 172 18 208 253(772 18 218 253
gin 1GP maetne 0 localpe! 100 vl combed-edlerme
Estended Comemupndy BT 1100 1001
mipi Labals ot nolabel 36 ]

B5001 &4055 65007 65085

T2 18 254 206 (matne. 20845 ) from 172 18 298 252 (172 16218 242
Ovgn IGF maine 0 ioCaipre! 100 valbd conied-ecierma
Esteradid Commiamity BT 1100 10010

mip lalss o' cul nolalet 362

Sy BN L ) BoR

172 18 254 2206 (malrec. 20845) from 10 7T 255 5T (10 TT 255 57
Jngin IGP. metnc . locaipie! 180 yald conded-edlemal
Estenced Comemendy; RT 1100 W1

gy Labanily an' ol imodabel 38 7

4555 45001 ) %089

172 18 250 208 imapbreg JOEA% ) o 10 57 255 11 (10 57 255 11
Owngen 13F metne O locaipre! 100 vabd comded-exiermal Besi
Esténaded Comemaray RT 1100 1001

mipt Labegt ol RolaB-ot 380

BAFSS 65000 65029
1T 16 254 226 imetric 20805) e TEETE 224 293 (172 16 224 253
'd-;r- WGP meetre 0 o apiet 100 valed OgRies ndernal
Evtended Commurty RT 11007007
mpE label avout rolabed 36
5003 65080
T2 18 254 226 (et 20845 o 172 18 254 20 (172 16 254 2
Oinagan [GF mstr 0 Caipre! 100 valkd conbed-#eimns
Ertended Commuerety AT 1100 1001
o Eabab mvout rolabed 367
65089 iRecened o § R -chent
172 16 228 226 imetne 20845) rom 172 18 229 224 (TR W 128 126
Coragan WGP metne ) ocapeet 100 vakd Oonied-anlinmal
E vlandied Comemumty RT 1100 1001
mpes Labeiks anoat Pl 2 T

Refer to the exhibit. An engineer configured BGP and wants to select the path from 10.77.255.57 as the best path instead of current best path. Which action
resolves the issue?

A. Configure AS_PATH prepend for the desired best path

B. Configure higher MED to select as the best path.

C. Configure lower LOCAL_PREF to select as the best path.
D. Configure AS_PATH prepend for the current best path

Answer: D
NEW QUESTION 221

- (Exam Topic 3)
Refer to the exhibit.

Rl#sh ip route
10.0.0.0/8 is wvariably subnetted, 3 subnets, 1 masks
10.1.2.0/24 [20/409600] wvia 10,1.100.10, 0OD:08:45

astEthernetd/ 0
10.1.1.0/24 [90/409600] via 10.1.100.10;, 00:08:45

FastEthernet0/0

0

)

Z 10.1.100.0/24 is directly connected, FasatEthernecG/0

An engineer configures the router 10.1.100.10 for EIGRP autosummarization so that R1 should receive the summary route of 10.0.0.0/8. However, R1 receives
more specific /24 routes.

Which action resolves this issue?

A. Router R1 should configure ip summary address eigrp (AS number) 10.0.0.0 255.0.0.0 for the R1 Fast Ethernet 0/0 connected interface.

B. Router R1 should configure ip route 10.0.0.0 255.0.0.0 null O for the routes that are received on R1.

C. Router 10.1.100.10 should configure ip route 10.0.0.0 255.0.0.0 null O for the routes that are summarized toward R1.

D. Router 10.1.100.10 should configure ip summary address eigrp (AS number) 10.0.0.0 255.0.0.0 for the R1 Fast Ethernet 0/0 connected interface.

Answer: D

NEW QUESTION 225

- (Exam Topic 3)

A customer reports that traffic is not passing on an EIGRP enabled multipoint interface on a router configured as below:
interface Serial0/0 no ip address

interface Server0/0/0.9 multipoint ip address 10.1.1.1 255.255.255.248

ip split-horizon eigrp 1

Which action resolves the issue?

A. Enable poison reverse
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B. Enable split horizon
C. Disable poison reverse
D. Disable split horizon

Answer: D

NEW QUESTION 227
- (Exam Topic 2)
Refer to the exhibit.

Router# show ip route

¥

2.0.0.0/24 is subnetted. 1 subnets
(. 2.2.2.0is directly connected, Ethernet0/0Q
L 3.0.0.0/8 is directly connected, Serial1/0

7. Ethernat/o

O E2 200.1.1.0/24 [110/20] via 2.2.2.2, 00:16:17,
O E1200.2.2.0/24 [110104] via 2.2.£.2, 00:00:41, Ethemet(/0
131.108.0.0/24 is subnetted, 2 subnets

O 131.108.2.0 [110/74] via 2.2.2.2, 00:16:17, EthernetQ/0
O 1A 131.108.1.0 [110/84] via 2.2.2.2, 00:16:17, Ethernet0/0
Router# show ip bgp

r\ ETWI ..k.

MNext Hop Metric LocPrf Weight Path

> 2.2.2.0/29 0.0.0.0 0 32768 7

. 1:.|1 10240 _‘Ir ., _',‘ :: "_! ai_‘l _’E_:}?f':.:-_ >
C P ] Tl N i s B B T A Lol Bl el = B |
> 131.108.2.0/24 £L.2.2.2 4 & Vst i

The OSPF routing protocol is redistributed into the BGP routing protocol, but not all the OSPF routes are distributed into BGP Which action resolves the issue?

A. Include the word external in the redistribute command

B. Use a route-map command to redistribute OSPF external routes defined in an access list
C. Include the word internal external in the redistribute command

D. Use a route-map command to redistribute OSPF external routes defined in a prefix list.

Answer: C

Explanation:

If you configure the redistribution of OSPF into BGP without keywords, only OSPF intra-area and inter-area routes are redistributed into BGP, by default. You can
use the internal keyword along with the redistribute command under router bgp to redistribute OSPF intra- and inter-area routes.

Use the external keyword along with the redistribute command under router bgp to redistribute OSPF external routes into BGP.

-> In order to redistribute all OSPF routes into BGP, we must use both internal and external keywords. The full command would be (suppose we are using OSPF
1):

redistribute ospf 1 match internal external

Note: The configuration shows match internal external 1 external 2. This is normal because OSPF automatically appends “external 1 external 2" in the
configuration. In other words, keyword external = external 1 external 2. External 1 = O E1 and External 2 = O E2. Reference:
https://www.cisco.com/c/en/us/support/docs/ip/border-gateway-protocol-bgp/5242-bgp-ospf-redi s.html

NEW QUESTION 230
- (Exam Topic 3)
Refer to the exhibit.

ﬂ 100024

FTP Server

Hily |

Swatch

VLAMNS

LIse rmarmes: Cisto it 12

Vel g i
Ee jo donn logd [0S hin

Interface VLANZ

ChUzers FIiSemvers

Binging 10603 with

pimg 10001

32 bytes of data

1 address 100007 255 2553550

2 Tp source-inierface vian J

fomm 10001 Bfes= 32 turw-e TS TTL = G4
oem TO 00T Betose 37 e T TTE = b4
Rigady Tidwirs 10 00k 1! Bl = 32 Toiies= Trivk TTL =6 swrchacopy fipoifoscocisoo@ 100 2705 BEn flash #
Regsly from 10041 bytes = 32 1mE= 1as TTL= 64 Pastrnation flename (125 in)?
Sooessing fpdficsooosoo@ 100002005 bin.,
ding statistics for 100.000 : e )
Packels Sent = 4 Recshved = 4 Latt = 0 (0% lots) Atrror opensmwg fipyiiscocisooimd 1 000LAM05 bin (Mo such lile or directony]
Approimate ragnd EFipe lifmees i milk-setonds
Felifirmiiem o Lims, PoAaNi e e o 1S AV e 1im5

An engineer cannot copy the 10S.bin file from the FTP server to the switch.
Which action resolves the issue?

A. Allow file permissions to download the file from the FTP server.

B. Add the 10S.bin file, which does not exist on FTP server.

C. Make memory space on the switch flash or USB drive to download the file.
D. Use the copy flash:/ ftp://cisco@10.0.0.2/I0S.bin command.

Answer: B

NEW QUESTION 234
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- (Exam Topic 3)

What is a function of an end device configured with DHCPv6 guard?

A. If it is configured as a server, only prefix assignments are permitted.

B. If it is configured as a relay agent, only prefix assignments are permitted.

C. Ifitis configured as a client, messages are switched regardless of the assigned role.
D. If it is configured as a client, only DHCP requests are permitted.

Answer: C

Explanation:

The DHCPv6 Guard feature blocks reply and advertisement messages that come from unauthorized DHCP servers and relay agents.
Packets are classified into one of the three DHCP type messages. All client messages are always switched regardless of device role. DHCP server messages are
only processed further if the device role is set to server. Further processing of server messages includes DHCP server advertisements (for source validation and

server preference) and DHCP server replies (for permitted prefixes).
If the device is configured as a DHCP server, all the messages need to be switched, regardless of the device role configuration.

NEW QUESTION 236
- (Exam Topic 3)

10.1.3.10/24

"10.1.

10.1.1.10/24

[,

—

1.1/24

192.168.4.0/24
i - 4 - )
N R
10.1.3. 1424
S Area-245
PPCI
h____}’

5 .
i |
L _Rs_Ji
10.1.4 1!?’J

PC3
—
10.1.4.10/24

Refer to the exhibit A network administrator is troubleshooting to reduce the routing table of R4 and R5 to learn only the default route to communicate from Inter-

Area and Intra-Area networks Which configuration resolves the issue?

A)

H-1=default area 245

Al

dfdefault area 245 default-cost

H-5=default area 245 default-cost

R-17area 245 stub no-summary

R-1Zarea 245 stub no-summary

R-4%area 245 stub

R-52area 245 stub

C)

R-12default area 245 default-cost

R-4xdefault area 245

R-52default area 245

H-1Zarea 2495 stub

R-4%area 245 stub no-summary

R-5Zarea 245 stub no-summarv

A. Option A
B. Option B
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C. Option C
D. Option D

Answer: D

NEW QUESTION 237
- (Exam Topic 3)

Rl {config) #router eigrp 10

1
Rl (config) #route-map EIGRP permit 10

!

FEl#show ip route eigrp | ainclude 10.10.10.
D 10,10.10.128/25

Rl (config)#ip access-list standard EIGRP-FILTER
Rl (config-std-nacl)édeny 10.10.10.0 0.0.0.0
Bl {config-std-nacl)#épermit 0.0.0.0 0.0.0.0

Rl (config-router) #distribute-list route-map EIGRP in

Rl (config-route-map) #match ip address EIGRP-FILTER

Refer to Ihe exhibit An engineer must filter EIGRP updates that are received to block all 10 10 10.0/24 prefixes The engineer tests the distribute list and finds one

associated prefix. Which action resolves the issue?

A. There is a permit in the route map that allows this prefix A deny 20 statement is required with a match condition to match a new ACL that denies all prefixes

B. There is a permit in the ACL that allows this prefix into EI6R
C. The ACL should be modified to deny 10.10.10.0 0.0.0.255.

D. There is a permit in the route map that allows this prefix A deny 20 statement is required with no match condition to block the prefix.

E. There is a permit in the ACL that allows this prefix into EIGR

F. The ACL should be modified to deny 10.10.10.0 255.255.255.0.

Answer: B

NEW QUESTION 238
- (Exam Topic 3)

Configuration

flow axporter Flow-to-collector
destination 192.168.100.17 vrf Mgmt-intf
transport udp 2601

axport-protocol neatflow-wv5

¥

flow monitor My-neatflow

exporter Flow-to-collector

record netflow ipvd original-input

|

! and ths managemsant-intarface is configured as follows
interface GigabitEthernetl

description HManagemsnt-Interface

vrf forwarding MHgmt intf

ip address 1%2 . 168.100.50 255.255.255.0
mejJoiiatlion auto

sh flow exporter statis

failed to sand 256783312

failed to sand ZTRAATEEIRS

Refer to the exhibit. A network administrator configured NetFlow data, but the data is not visible at the NetFlow collector. Which configuration allows the router to

send the records?

A. Configure the management interface in the global routing table to send the records.

B. Configure a different interface to send the records.

C. Configure the NetFlow collector to listen at export-protocol netflow-v5.
D. Rectify NetFlow collector reachability from the management interface.

Answer: B

NEW QUESTION 242
- (Exam Topic 3)

An engineer configured VRF-Lite on a router for VRF blue and VRF red. OSPF must be enabled on each VRF to peer to a directly connected router in each VRF.

Which configuration forms OSPF neighbors over the network 10.10.10.0/28 for VRF blue and 192.168.0.0/30 for VRF red?
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_ router ospf 1 vrf blue
network 10.10.10.0 0.0.0.15 area 0
router ospf 2 vrf red
network 192.168.0.0 0.0.0.3 area 0

) router ospf 1 vrf blue
network 10.10.10.0 0.0.0.240 area 0
router ospf 2 vrf red
network 192.168.0.0 0.0.0.252 area 0

' router ospf 1 vrf blue
network 10.10.10.0 0.0.0.252 area 0
router ospf 2 vrf red
network 192.168.0.0 0.0.0.240 area 0

' router ospf 1 vrf blue
network 10.10.10.0 0.0.0.3 area 0
router ospf 2 vrf red
network 192.168.0.0 0.0.0.15 area 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 247
- (Exam Topic 3)

PFresssssmE ... L]
Customer ABC BGP Peering BGPASIOD |
O5PFvd IPvE :
i
i
i
I B AR R RO TR :
| BGP AS 100 :
| OSPFVIIPVE I
I i
i i
I i
] '
] i
I i
i i
! '
' st 0l hassagfmas s F)
]
;
-
LR R
SW100#sh ip bgp ipvé uni summ
BGP router identifier 100.0.0.1, local AS number 100
BGP table wersion is 1, main routing table wversion 1
Neighbor v AS MsgBovd MsgSent ThlVer InQ Outd Up/Down State/PfiRed
2001 :ABC:ARBR:1100:1122:1111:2222 : ARRL
4 100 & 5 1 o 0 00:00.58 ]
SW100#sh ip bgp ipvé unicast
EW100#
Rlésh ip bgp ipvé uni
BGP table version is 4, local router ID is 1.1.1.1
Metwork Next Hop Metric LocPrf Weight Path
* § 2001::4/128 2001::4 ] 100 D 300 i
*xi 2002::2/128 2001 :2 ] 100 bi
R1¥
Rl¥sh ipvE route
0 2001::2/128 [110/1)
via FES0::5200:C3FF:FE0L:E600, GigabitEthernet(/0
B 2002::2/128 [200/0)
wvia 2001::2

Refer to the exhibit SW100 cannot receive routes from R1 Which configuration resolves the issue?
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H1
router bgp 100
address-family ipvé
neighbor 2001::2 route-refiector-client
neighbor 2001:ABC:AABB:1100:1122:1111:2222: AAA2 route-reflector-client

R2
router bgp 100
address-family ipvé
neighbor 2001::2
neighbar 2001::1 next-hop-self

R1
router bgp 100
address-family ipve
neighbor 2001::2 route-reflector-client
neighbor 2001:ABC:AABB:1100:1122:1111:2222: AAAD route-reflector-client

R2
router bgp 100
address-family ipve
neighbor 2001::2
neighbor 2001::1 as-override

R1

router bgp 100

address-family ipve
no synchronization

R2

router bgp 100
address-family ipvé
no synchronization

SW100

router bgp 100
address-family ipvé
no synchronization

R1

router bgp 100
address-family ipvé
redistribute connected

R2

router bgp 100
address-family ipvé
redistribute connected

A. Option A
B. Option B
C. Option C
D. Option C

Answer: A

NEW QUESTION 250
- (Exam Topic 3)

ip sla 1
icep-echo 8.B.B.8
threshold 1000
timeout 2000
fraquancy 5
ip sla schedule 1 life forever start-time now
I
track 1 ip sla 1
!
ip route 0.0.0.0 0.0.0.0 Ethernet0/0 203.0.113.1 name ISPl track
1
ip route 0.0.0.0 0.0.0.0 Ethernet0/1 198.51.100.1 2 name ISP2

Refer to the exhibit. After recovering from a power failure. Ethernet0/1 stayed down while Ethernet0/0 returned to the up/up state The default route through ISP1
was not reinstated m the routing table until Ethernet0/1 also came up Which action resolves the issue?

A. Reference the track object 1 in both static default routes

B. Remove the references to the interface names from both static default routes

C. Configure the default route through ISP1 with a higher administrative distance than 2.
D. Add a static route to the 8 8.8 8/32 destination through the next hop 203.0.113.1

Answer: D
NEW QUESTION 255
- (Exam Topic 3)

An engineer creates a default static route on a router with a hop of 10.1.1.1. On inspection, the engineer finds the router has two VRFs, Red and Blue. The next
hop is valid for both VRFs and exists in each assigned VRF. Which configuration achieves connectivity?
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A)

p rodwte wr! BLUE 0.0.00 65256 7680 2708 1011 .1
p route wrif RED 0.0.0.0 2565288 286 64 10.1.1.1

B)

o rowte vrl Red 00000 §.0.0.0 18.1
io rowte vif Blee 0.00.06C T E EREK

C)

P roane ¥ .5

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 258

- (Exam Topic 3)

A CoPP policy is applied for receiving SSH traffic from the WAN interface on a Cisco ISR4321 router. However, the SSH response from the router is abnormal and
stuck during the high link utilization. The problem is identified as SSH traffic does not match in the ACL. Which action resolves the issue?

A. Rate-limit SSH traffic to ensure dedicated bandwidth.
B. Apply CoPP on the control plane interface.

C. Increase the IP precedence value of SSH traffic to 6.
D. Apply CoPP on the WAN interface inbound direction.

Answer: B

Explanation:
The problem is “SSH traffic does not match in the ACL” and “CoPP policy is applied for receiving SSH traffic from the WAN interface” so we should apply CoPP
on the control plane interface instead.

NEW QUESTION 261
- (Exam Topic 3)
Refer to the exhibit.

ip vif CCNP

rd 1:1

interface Ethernet1

ip vrf forwarding CCNP

ip address 10.1.1.1 255.255,255.252
|

interface Ethernet2
ip vrf forwarding CCNP
ip address 10.2.2.2 255.255,255.252

Which configuration enables OSPF for area 0 interfaces to adjacency with a neighboring router with the same VRF?

A. router ospf 1 vrf CCNP interface Ethernetlip ospf 1 area 0.0.0.0 interface Ethernet2 ip ospf 1 area 0.0.0.0
B. router ospf 1 interface Ethernetlip ospf 1 area 0.0.0.0 interface Ethernet2 ip ospf 1 area 0.0.0.0

C. router ospf 1 vrf CCNP network 10.1.1.1 0.0.0.0 area Onetwork 10.2.2.2 0.0.0.0 area 0

D. router ospf 1 vif CCNPnetwork 10.0.0.0 0.0.255.255 area 0

Answer: C

NEW QUESTION 263
- (Exam Topic 3)
Refer to the exhibit.
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Area 0

3¢ 3¢

W1 SW4
-y

An error message "an OSPF-4-FLOOD_WAR” is received on SW2 from SW1. SW2 is repeatedly receiving its own link-state advertisement and flushes it from the
network. Which action resolves the issue?

A. Change area 5 to a normal area from a nonstub area

B. Resolve different subnet mask issue on the link

C. Configure Layer 3 port channel on interfaces between switches
D. Resolve duplicate IP address issue in the network

Answer: D

NEW QUESTION 264

- (Exam Topic 3)

A network administrator added a new spoke site with dynamic IP on the DMVPN network. Which configuration command passes traffic on the DMVPN tunnel from
the spoke router?

A. ip nhrp registration ignore

B. ip nhrp registration no-registration
C. ip nhrp registration dynamic

D. ip nhrp registration no-unique

Answer: D

NEW QUESTION 267
- (Exam Topic 3)
Refer to the exhibit.
ipv6 dhcp pool DHCPRPOOL
address prefix 2001:0:1:4.::/64 lifetime infinite infinite

interface FastEthernet0/0

ip address 10.0.0.1 255.255.255.240
duplex auto

speed auto

ipv6 address 2001:0:1:4::1/64

ipv6 enable

ipv6 nd ra suppress

ipvB ospf 1 area 1

ipv6 dhcp server DHCPPOOL

Reachability between servers in a network deployed with DHCPV6 is unstable. Which command must be removed from the configuration to make DHCPv6
function?

A. ipv6 dhcp server DHCPPOOL

B. ipv6 address 2001:0:1:4::/64

C. ipv6 nd ra suppress

D. address prefix 2001:0:1:4::/64 lifetime infinite infinite

Answer: C

NEW QUESTION 270
- (Exam Topic 3)
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10.4.4.4

direction:  Dutpul
trafficliph:  on
Interface Ethernetiyl
FHF: manitore:
diregtion:  Ingut

trafficlal oo Source Fart:
FHF: maniter: Fleswtdonitarl [
L

diregtion:  Dutput
tralficiml:  on

s ]
—1
HBAS Servar
10,65, 66,66
R¥
A 1igh Flow interface
Interface ErharmorDfid =
EMF: mmoniboe: Flpwionitar] Hlxshow Mow exportor
direction: Inaut Flave E..q':ll:lll.l'.tr FlqunnD'h'rlF:
teafficliph o e T o i
FHE: monitee: Floatdonitor] Eapiarl pratodal: MetFlaw Virsion 5

Transpar Conflpuration:
Diestination IF address: 106004665
Source P address 10.1.11

Flowhionitard [:%ransp:rt Prodocol:  UDP
estination Porl: 1000

4180
]
255

Cutput Features: Mot Uzed

Primary link

Secondary link

Loapbak 0:10.10.10.1

Rinshaw flow monitar
Flowy Manatar Flawbdanitosl:
Cescriptian: User defined

Flaw Record: retflew ipvd Sraginalinpal

Flow Exparter:  FlowExparterl
Caghies

Tupe: regrmaal
Slakues: allacated
Sl ACE enteigs ) I4A0RE Dytes

Inzctive Timeaul: 15 socs
ALt Timopur; LE0Q S5
Updats Timeout: THGD sores

Syrdhrgnized Timeouwl: §00 se0s

Refer to the exhibit. An engineer configured NetFlow on R1, but the flows do not reach the NMS server from R1

Rircanfigflew menitor FlowMenitort
R 1iconfig-flow-monitor jHdestination 10,66,66,66

R 1icanfig&flow exporter FlowExporter!
R 1{config-low-exponer@destination 10.66.66.6¢

Rl{configFinterface Ethernetd0
RI{canfig-if#ip flow manitor Flowmaonitoer! input
R1lconfig-if#ip flow meniter Flowmaonitor! output

Rl{config =interface Ethernet1
R1{canfig-if#ip flow monitor Flowmaonitor! input
B 1iconfig-ifistip flow moniter Flewmoniter! output

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
NEW QUESTION 274

- (Exam Topic 3)
Refer to the exhibit.

YW shos 15 Ak B | & wid

Irterface Pdgdrwas D7 Mbelhod 5 atus
E tharna 100 MINII YES meswsl up
Lacphacs | 17216501 YES manual up
L oopbac? 172 16100 % YES rmanual up
L eopback3 172 16 1501 YFE manusl up

YW o b Sagrp gk
ENGRE- el Mesghbors for 5401

E 1A show ip eigop lopo all links
lErGEE 40 v Tepology Toble ke A5V 04172.146.101

r - reply Slafuis 5 - = Slals

P 182 168 10074 1 sucoessos, FDo i ACGODE . Satv i

wig 20000113 2 (400G 268 TherriEt 1~
P2 16 100 02, 1 sucoessors, FLITE 1 &0uSR
cia Connecied, Loopbacid
P 407 168 M 0, | succesatrd, FO s URRLL, e
f i SO0 2875 E ther naf 1A
3 J o B L G
a I I'-t Bk r 'F llil |_
1 =t E”"' L
i E L | = - 1 J |
] ol | ! LI
. =5
{ - r =
l I. 1 __\_--_l !

P AdaSiEan It T Hodd Untme SHTT BTO G S
(£ " o reem | Sl Mum
g 20301132 EL4/0 14 0031 16 1018 $000 O 34

Codas: B - Paasive, A - Active, U - Update, O - Coery, B - Hapdh

L
up

up

. Which configuration resolves this Issue?

Routers R1 and R2 have established a network adjacency using EIGRP, and both routers are advertising subnets to its neighbor. After issuing the show ip EIGRP

topology all-links command in R1, some prefixes are no showing R2 as a successor. Which action resolves the issue?

A. Rectify the incorrect router ID in R2.

B. Enable split-horizon.

C. Configure the network statement on the neighbor.
D. Resolve the incorrect metric on the link.

Answer: D

NEW QUESTION 278
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- (Exam Topic 3)

Refer to the exhibit.

Ri#sh run | s bgp

router bgp 65001

no synchronization

bap router-id 10.100.1.50

bgp log-neighbor-changes

network 10.1.1.0 mask 255.255.255.252
network 10.1.1.12 mask 255.255.255.252
network 10.100.1.50 mask 255.255.255.259
timers bgp 20 60

neighbor R2 peer-group

neighbor R4 peer-group

neighbor 10.1.1.2 remote-as 65001
neighbor 10.1.1.2 peer-group R2
neighbor 10.1.1.14 remote-as 65001
neighbor 10.1.1.14 peer-group R4

no auto-summary

While troubleshooting a BGP route reflector configuration, an engineer notices that reflected routes are missing from neighboring routers. Which two BGP
configurations are needed to resolve the issue? (Choose two)

A. neighbor 10.1.1.14 route-reflector-client
B. neighbor R2 route-reflector-client

C. neighbor 10.1.1.2 allowas-in

D. neighbor R4 route-reflector-client

E. neighbor 10.1.1.2 route-reflector-client

Answer: AE
NEW QUESTION 283

- (Exam Topic 3)
Refer to the exhibit.

The security department recently installed a monitoring device between routers R3 and R5, which a loss of network connectivity for users connected to R5.
Troubleshooting revealed that the monitoring device cannot forward multicast packets. The team already updated R5 with the correct configuration. Which
configuration must be implemented on R3 to resolve the problem by ensuring R3 as the DR for the R3-R5 segment?

A)
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 286

- (Exam Topic 3)
CPE# show anmp mib ifmib ifindex detail
Description ifIndex Active Persistent Saved TrapStatus
Loopbackl B yes disabled no enabled
GigabitEthernetl 1 yes disabled no enabled
GigabitEthernetl 3 yes dizabled no  enabled
cigabitEthernetl. 123 10 yes disabled no  disabled
VoIP-Nulld 5 y=s disabled no  =nabled
Loopbackd 7 yes disabled no  enabled
Hullo & yes disabled no enabled
Loopback2 % yes disabled noe  enabled
GigabitEthernetd 4 yes disabled no  enabled
GigabitEthernet2 2 yes disabled no  enabled

Refer to the exhibit. After reloading the router an administrator discovered that the interface utilization graphs displayed inconsistencies with their previous history
in the NMS. Which action prevents this issue from occurring after another router reload in the future?
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A. Rediscover all the router interfaces through SNMP after the router is reloaded
B. Save the router configuration to startup-config before reloading the router

C. Configure SNMP to use static OIDs referring to individual router interfaces

D. Configure SNMP interface index persistence on the router

Answer: D

NEW QUESTION 289

- (Exam Topic 3)

A network administrator is troubleshooting a failed AAA login issue on a Cisco Catalyst c3560 switch. When the network administrator tries to log in with SSH using
TACACS+ username and password credentials, the switch is no longer authenticating and is failing back to the local account. Which action resolves this issue?

A. Configure ip tacacs source-interface GigabitEthernet 1/1

B. Configure ip tacacs source-ip 192.168.100.55

C. Configure ip tacacs-server source-ip 192.168.100.55

D. Configure ip tacacs-server source-interface GigabitEthernet 1/1

Answer: A

NEW QUESTION 291
- (Exam Topic 3)
What are the two goals of micro BFD sessions? (Choose two.)

A. The high bandwidth member link of a link aggregation group must run BFD
B. Run the BFD session with 3x3 ms hello timer

C. Continuity for each member link of a link aggregation group must be verified
D. Eny member link on a link aggregation group must run BFD

E. Each member link of a link aggregation group must run BFD.

Answer: CE
Explanation:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/iproute_bfd/configuration/xe-16-8/irb-xe-16-8-book/irb-micr

NEW QUESTION 294
- (Exam Topic 3)
Refer to the exhibits.

Landon — “show ip route” output
Gateway of last resort 15 not ssat

172.1.0.0/16 is variably subnetted, 5 subnets, 2 masks
I72.1.11.0/24 is directly connected, Ethernatd/ /0

172.1.11.1/32 is directly connected, Ethernetd/0

172.1.12 0/24 is directly connected, Ethernetd/1

172.1.12.1/32 4n directly connacted, Etharnatl/1

172.1.13 . 0/24 [90/76B00) wim 172.1.11.2, 00:00:50, Etharnet0d,/0
172.16.0.0/16 is variably subnetted, B subnets, 2 masks
172.16.1.0/24 is directly connected, Loopback0D

172 .16.1.1/32 is digectly connected, Ethernetd/0

172.16 0/24 is directly connected, Loopbackl

172.16.2.1/32 is= diriﬁ?iy connected, Loopbackl

172.16.3.0/24 [120/1) wia 172.1.11.2, 00:00:08, Etharnat0d/0
17216 0/24 [120/1) wia 172.1.11.2, 00:00:08, Ethernetd/0
172,16 0/24 [90/156160] wia 172.1.12.3, 00:00:50, Etharnatld/1
172.16.6.0/24 [90/156160) wia 172.1.12.3, 00:00:50, Ethernet(d/l

= o o e |

[ =00 =1 BB o B ]
U B L R R

Rome - "show run | section router” output

router eigrp 111
natwark 172.1.0.0
netwark 172 16.0.0
no auto-surmary

LAN Segments LAN Segments
172.16.1.0/24 172.16.3.0/24
1T216.20/24 172.16.4.0/24
London [N (1) 172.1.11.0/24 (/AR Rrome
R/ ot 100 Mbps 00/ . ¥ %
(1) “eon o1, )
1 Gbps 1 Gbps "
1T21.12.0024 1721130024
alil el
X
(-3) . ¥% (3)
Barcelona

LAN Segments

172.16.5.0/24

172.16.6.0/24

London must reach Rome using a faster path via EIGRP if all the links are up but it failed to take this path Which action resolves the issue?
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A. Increase the bandwidth of the link between London and Barcelona

B. Use the network statement on London to inject the 172 16 X 0/24 networks into EIGRP.
C. Change the administrative distance of RIP to 150

D. Use the network statement on Rome to inject the 172 16 X 0/24 networks into EIGRP

Answer: D

NEW QUESTION 297
- (Exam Topic 3)
Refer to the exhibit.

1220400 e
Gi0/2 v e

| 2 R2
192.168.130.0/24 E’ Eﬂ“%% Gil/3
b e
R3

Which policy configuration on R1 forwards any traffic that is sourced from the 192 168 130 024 network to R2?
A)

access-list 1 permit 192.188.130.0 0.0.0.255
1

interface Gi0/2
ip policy route-map test
1

-rumemap test permit 10
match ip address 1
set ip next-hop 172.20.20.1

B)
access-list 1 permit 192.168.130.0 0.0.0.255
]

interfact Gio/M
ip policy route-map test
1

:mutt-rnap test permit 10
match ip address 1
set ip next-hop 172.20.40.1

©)
access-list 1 permit 192.168.130.0 0.0.0.255
1

interfau Gio/2
ip policy route-map test
]

i'uule-map test permit 10

match ip address 1

set ip next-hop 172.20.20.2

D)

access-list 1 permit 192.168.130.0 0.0.0.255
!

interface Gi0/1
ip policy route map test
1

fnuttmnap test permit 10
match ip address 1
set ip next-hop 172.20.40.2

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 301
- (Exam Topic 3)
A network administrator must optimize the segment size of the TCP packet on the DMVPN IPsec protected tunnel interface, which carries application traffic from

the head office to a designated branch. The TCP segment size must not overwhelm the MTU of the outbound link. Which configuration must be applied to the
router to improve the application performance?
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interface tunnel30

ip mtu 1400

ip tep packet-size 1360
|

crypto ipsec fragmentation after-encryption

interface tunnel30

ip mtu 1400

ip tcp payload-size 1360
!

crypto ipsec fragmentation befare-encryption

interface tunnel30

ip miu 1400

ip tep adjust-mss 1360
i

;:n.rptn- ipsec fragmentation after-encryption

I interface tunnel3d
ip miu 1400
ip tcp max-segment 1360
I

crypto ipsec fragmentation before-encryption

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
NEW QUESTION 305

- (Exam Topic 3)
Refer to the exhibit.

LAN Segments LAN Segments
172.16.8.0/24 172.16.4.0/24
172.16.9.0/24 172.16.5.0/24
172.16.10.0/24 172.16.6.0/24
172.16.11.0/24 172.16.7.0/24
ws(2) OSPFArea0 (1) 4 (1) EGRP (2
s 00 ¥ ™ eont 000 ¥
10.1.1.0/24 10.1.2.0/24
LA Chicago NewYork

The network administrator configured the Chicago router to mutually redistribute the LA and NewYork routes with OSPF routes to be summarized as a single route

in EIGRP using the longest summary mask:

router eigrp 100

redistribute ospf 1 metric 1010 1010 10

router ospf 1

redistribute eigrp 100 subnets

|

interface E 0/0

ip summary-address eigrp 100 172,16.0.0 255.255.0.0

After the configuration, the New York router receives all the specific LA routes but the summary route. Which set of configurations resolves the issue on the

Chicago router?

r» interface E 0M1
ip summary-address eigrp 100 172.16.0.0 255.255.0.0

interface E 0/
ip summary-address eigrp 100 172.16.8.0 255.255.252.0

router eigrp 100
summary-address 172.16.8.0 255.255.252.0

router eigrp 100
summary-address 172.16.0.0 255.255.0.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
NEW QUESTION 310
- (Exam Topic 3)

What is the function of BFD?

A. It provides uniform failure detection regardless of media type.
B. It creates high CPU utilization on hardware deployments.

C. It negotiates to the highest version if the neighbor version differs.

D. It provides uniform failure detection on the same media type.
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Answer: A

NEW QUESTION 311
- (Exam Topic 3)
Refer to the exhibit.

interface Tunnell
ip address 172.23.5.10 255.255.255.0
no ip redirects

ip
ip
ip
ip
ip
ip
ip
ip
ip

mtu 1420

nhrp
nhrp
nhrp
ospf
ospf

authentication ClitrtsBl

map multicast 192.168.200.1
map 172.23.5.1 192.168.200.1

network-id 10
holdtime 300
shortcut

network broadcast
priority O

tunnel source 192.168.100.146
tunnel mode gre multipoint
tunnel key 100

A network engineer is adding a new spoke router into an existing DMVPN Phase 3 tunnel with a hub router to provide secure communication between sites Which

additional configuration must the engineer apply to enable the tunnel to come up?

A. ip nhrp registration no-unique
B. ip nhrp server-only non-caching
C. ip nhrp responder tunnel

D. ip nhrpnhs 172.23.5.1

Answer: D

NEW QUESTION 312

- (Exam Topic 3) _ i
AN ~ uA
A VAL oA W,

. =

. ..-

R1 R3

R1

service limestamps debug datetime miec
service Uimestamps [og datetirme mses

|

clock timezone EET 20
|

end

Rlishow clock
#23:50:13.297 EET 5at Nov 14 2020

Rle

"Mov 14 21:49.59.607: 1P;: 2=10.1.1.1 {local), d=224.0.0.5 [CthernatD 0], len BO, ocal feature, Logkcal MM lacal(14), mype O,
forus FALSE, sendself FALSE, mtu 0, feedchk FALSE

"Mow 14 21:49:59.607: 1P: £10.1.1.1 (local), d=224.0.0.5 [EthernetDf0), len B0, sending broad/multicast

"Mov 14 21:49:59.607: 1P; 5=10.1.1.1 {local), d=224.0.0.5 (EthernatD D), len B0, sending full packet

"Mov 14 21:50:00.336: IP: $510.2.2.4 (Ethernetd/ 1), d=224.0.0.5, len 80, revd O

*Mov 14 21:50:00.336: 1P: 5=10.2.2.4 (EthernetD/1), d=224.0.0.5, len 80, input feature, packet consumed, MCI Check(101),
riype O, forus FALSE, sendsell FALSE, mitu 0, fwdchk FALSE

Refer to the exhibit. An engineer cannot determine the time of the problem on R1 due to a mismatch between the router local clock and legs. Which command

synchronizes the time between new log entries and the local clock on R1?
A. service timestamps debug datetime msec show.timezone

B. service timestamps log datetime locatetime msec

C. service timestamps datebug datetime localtime msec

D. service timestamps log datetime msec show-timezone

Answer: B

NEW QUESTION 315
- (Exam Topic 3)
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R1
.||_l-_
L EDVT ENY

L IP Metwork Cloud

Tunnel 0

I on |

"2
Spoke

Refer to me exhibit. The hub and spoke are connected via two DMVPN tunnel interfaces The NHRP is configured and the tunnels are detected on the hub and the

spoke Which configuration command adds an IPsec profile on both tunnel interfaces to encrypt traffic?

A. tunnel protection ipsec profile DMVPN multipoint
B. tunnel protection ipsec profile DMVPN tunnell
C. tunnel protection ipsec profile DMVPN shared
D. tunnel protection ipsec profile DMVPN unique

Answer: C

NEW QUESTION 318
- (Exam Topic 3)

Router B

Net 196.1.0.0/24

Router A

200.100.100.1/32 Internet

Router C

192.168.1.1 192.168.1.2 192.168.1.3
Subnet
192.168.1.0/124

it show route-map CCHP
route-map CCNP, permit, sequence 10
Match clauses:
1p address (access-lists): 1
Set clauses:
Policy routing matches: 0 packets, 0 bytes
R2 (config-1f) ¥

Net 198.1.0.0/24

Refer to the exhibit. An engineer configures router A to mark all inside to outside traffic from network 192 168 1 0, except from host 192 168 1 1. with critical IP

precedence. The policy did not work as expected Which configuration resolves the issue?

A)

RouterAlconfig=access-list 1 deny host 192.168.1.1
RouterA(config=route-map CCNP permit 10
RouterA(config#match ip address 1
RouterA(config)#set ip precedence critical
RouterAlconfig =route-map CCNP permit 20
RouterAlconfig)# interface g0/0/0

RouterAlconfig-if#ip address 192.168.1.4 255.255.255.0
RouterA(config-ifj=ip pelicy route-map CCNP

B)

RouterA(configaccess-list 1 deny host 192.168.1.1
RouterAlconfig/#access-list 1 permit any any
RouterAl(config #route-map CCNP deny 10
RouterAlconfig@match ip address 1
RouterAlconfig#set ip precedence critical
RouterAlconfig #route-map CCNP permit 20
RouterAlconfig interface g0/0/0

RouterAfconfig-if=ip address 192.168.1.4 255.255.255.0
RouterA(config-ifigip policy route-map CCNP

C)
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RouterA{config=access-list 1 deny host 192.168.1.1
RouterAlconfigj2access-list 1 permit any any
RouterAlconfig #route-map CCNP permit 10
RouterAlconfig)/#match ip address 1
RouterAlconfig)#set ip precedence critical
RouterA{config#route-map CCNP permit 20
RouterAlconfig=set ip precedence critical
RouterAlconfig)® interface g0/0/0

RouterAlconfig-ifj#ip address 192.168.1.4 255.255.255.0
RouterAf{config-ifj=ip policy route-map CCNP

D)

RouterA(configi=access-list 1 deny host 192.168.1.1
RouterAlconfig =access-list 1 permit any any
RouterAflconfig =route-map CCNP permit 10
RouterAlconfigi=match ip address 1
RouterAlconfig)=set ip precedence critical
RouterAfconfig )= interface g0/0/0

RouterA(config-if #ip address 192.168.1.4 255.255.255.0
RouterAlconfig-if)zip policy route-map CCNP

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
NEW QUESTION 320

- (Exam Topic 3)
Refer to the exhibit.

Dallaz_Router:

interface GigabHEiharmetQ/o/0. 364
descrplion Guest _\Wii_10 66406 022
encapsulation ds110 364

ip addrens 1066 46,1 255 255 2540
Ip nelper-address 10.192,104.212

ip helper-address 10197103140

ip access.gioup GUEST-ACCESS In
ip access-group GUEST-ACCESS-OUT oul
no ip redrects

no ip unrgachablea

J na ip proxy-ang

ip accoas.lisl extenged GUEST SACCESS
remark Intemel Aceass Only
parmit udp any any a4 Bealpc
parmit udp any any ¢f BoDIps
deny b any 10000 0.255.255 255
geny ipany 172160.090.15 255255
dony ipany 192162000 0.255.255
deny ipany 224.000 31 BPEE DLL A5G
deny ipany 1692540049 0.255.25%
deny Ipany 127 .0.00 255.25'_'5 255
deny ipany 192.0 0000255

dany ipany hestD.o00
l permit ip 10 66.42.00 00,255 any
parmit ip 10 66 46 0 0.0.0 255 any
L]

. ended GUEST-ACCESS-QUT

l?nil:::::l::di:h?ncb: nbound traffic lo Guest Metvorks
permii udp any any €4 booifs
penmit udp any any eq booipe
permet udp any any od darmain
parmit udp any any

ANy Ary
ﬁm: :i:.geﬂ?‘.lﬂ_:r'}zlﬂn 12; g 15871 any
| anmy any aslabiliihe
B Py 10.0 0 0 0255255 255
damy ip any 172.16.0.0 0.15.255 255
deny ipany 192.168.0.0 00,255 2535
dony ip any 224.000 a1 255 25% is
deny I any 169 25%.0.0 0.0 :.?"Ef-.z .
deny #p any 127.0.0.0 025525525
dany ip any 192020 0¢.0.25%
deny Ipany nost 0.0.0.0

After a new regional office is set up,not all guests can access the internet via guest WiFi. Clients are getting the correct IP address from guest Wi-Fi VLAN 364.

which action resolves the issue ?

A. Allow 10.66.46.0/23 in the outbound ACL

B. Allow DNS traffic through the outbound ACL
C. Allow DNS traffic through the inbound ACL
D. Allow 10.66.46.0/23 in the inbound ACL

Answer: C

NEW QUESTION 321
- (Exam Topic 3)
Refer to the exhibit.
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144 "!h’ &
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R1 is configured with IP SLA to check the availability of the server behind R6 but it kept failing. Which configuration resolves the issue?

A. R6(config)# ip sla responder

B. R6(config)# ip sla responder udp-echo ip address 10.10.10.1 port 5000

C. R6(config)# ip access-list extended DDOSR6(config ext-nac)# 5 permit icmp host 10.66 66.66 host 10.10.10.1
D. R6(config)# ip access-list extended DDOSR6(confg ext-nac)# 5 permit icmp host 10.10.10.1 host 10.66.66.66

Answer: D

Explanation:

In this IP SLA tracking, we don't need a IP SLA Responder so the command “ip sla responder” on R6 is not necessary.

We also notice that the ACL is blocking ICMP packets on both interfaces E0/0 & EO/1 of R6 so we need to allow ICMP from source 10.10.10.1 to destination
10.66.66.66.

NEW QUESTION 324
- (Exam Topic 3)
Refer to the exhibit.

*Sep 26 19:50:43.504; SNMP: Packet received via UDP from
182 168.1.2 on GigabitEthernetd/15rParseV35nmphMessage: No
matching Engine 10.

SrParseVV3SnmpMeszage: Failed,
SrloSnmp: authentication failure, Unknown Engine 1D

*Sep 26 19:50:43.504: SNMP: Repont, reqid 29548, errstat 0,
erridx 0
internet.6.3.15.1.1.4.0=3

*Sep 26 19:50:43.508: SNMP: Packet sent via UDP to 192.168.1.2
process_mgmt_req_int: UDP packet being de-queued

Which two commands provide the administrator with the information needed to resolve the issue? (Choose two.)

A. Show snmp user

B. debug snmp engine-id
C. debug snmpv3 engine-id
D. debug snmp packet

E. showsnmpv3 user

Answer: AD

Explanation:

There are 3 values in the SNMPv3 header that must match for the communication to take place: snmpEnginelD, snmpEngineTime, snmpEngineBoots. The error
received indicates a problem with the EnginelD value: “authentication failure, Unknown Engine ID”

To specify the Engine ID, we can use the command “show snmp user”. The following example specifies the username as abcd with Engine ID:
00000009020000000C025808:

Routerzshow snmp user abcd

User name: abcd

Engine ID: 00000009020000000C025808
storage-type: nonvolatile active access-list: 10
Rowstatus: active

Authentication Protocol: MD5

Privacy protocol: 3DES

Group name: VacmGroupName

Group name: VacmGroupName

The “debug snmp packet” command displays all SNMP packets that are arriving and being replied to.

NEW QUESTION 326
- (Exam Topic 3)
What action is performed for untagged outgoing labels in an MPLS router?
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A. Convert the incoming MPLS packet to an untagged packet and then do a FIB lookup
B. Convert the incoming MPLS packet to an untagged packet and then do a RIB lookup.
C. Convert the untagged packet to a labeled packet and forward it to the next router

D. Convert the incoming MPLS packet to an IP packet and forward it to the next router.

Answer: C

NEW QUESTION 329
- (Exam Topic 3)

Rl#=zh run | section eigrp
router eigrp 10

netwark 10.10.10.0 0.0.0.255

e AUTO=SUurmary

neighbor 10.10.10.2 FastEthernet(/s0
neighbor 10.10.10.3 FastEthernecd/0
N

Blfshew ip eigrp neighbors
IP-EIGRF neighbors for process 10

H Address Interface Hold Uptime SETT ETO 2
Seq
[5ecC) {ms) cnt
Num
1 10.30.10.2 Fal/f0 10 00:01:01 42 232 0 &
10.10.10.3 Fal/C 10 00:01:03 42 244 0 ¢

Refer to the exhibit The remote branch locations have a static neighbor relationship configured to R1 only R1 has successful neighbor relationships with the
remote locations of R2 and R3, but the end users cannot communicate with each other. Which configuration resolves the issue’

RZ

interface FastEthernet/0.10

encapsulation dot1Q

ip address 10.10.10.2 256.255.255.0

R3

Interface FastEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.3 255.255.255.0

RZ

interface FastEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.2 255.256.255.0

R3

interface FastEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.3 255.256.255.0

R2

interface FastEthernet0/0.10
encapsulation dot1Q 10

ip address 10.10.10.2 265.266.265.0

R3

interface FastEthernet0/0.10
encapsulation dot1Q 10

ip address 10.10.10.3 255.265.265.0

RZ and R3
interface FastEthernetd/0
no ip split-horizen eigrp 10

R
interface FastEthernetl/l
ne ip split-herizen eigrp 10

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: E
NEW QUESTION 332

- (Exam Topic 3)
Refer to the exhibit.

interface GigabitEthernetl

no ip address

ip helper-address 192.168.255.3

ne shutdown

!
interface GigabitEthernetZ.10
encapsulation dotlQ 210

ip address 192.168.210.1 255.255.255.0
ip ospf 1 area 0

ne shutdown

With the partial configuration of a router-on-a-stick. Clients in VLAN 10 on Gi2 cannot obtain IP configuration from the central DHP server is reachable by a
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successful ping from the route. Which action resolves the issue?

A. Configure the ip/ip/dhcp pool f and network 192.168..210.0.255.255/0 commands.

B. Configure the ip header-address 192-168.265.3 command on the Gi2 10 subinterface.

C. Configure a valid IP address on the Gi2 interface so that DHCP requests can be forwarded.
D. Configure the Ip dhcp excluded-address 192.168.255.3 command on the Gil.10 subinterface.

Answer: B
NEW QUESTION 335

- (Exam Topic 3)
Refer to the exhibit.

Hi#show ip route

Gateway of last resort L8 not set

10.0.0.0/8 is variably subnéttbed, subneta, 2 maska
10,1, 25,0/30 L directly connected, thernat sl
.1 10 AL lirectly conr ted, tEthi 1
0.1.1.0/3 irectly connected, hernet
E2 10.] | [119/26] via 10.1.3.2, 00:02:04, FastEtharnet
0:55%,13 d ] 01 »wia 10.1.2 0: [}, FastEthernet
! | 100, 24 04096091 via 10,1 2.1 | 1At {
10,100,10.0/29 18 directly connected, FaatEthernetl/0.10
10,55, 72.0/24 (90/409600) via 10.1.2.2. 00:01:01. FastEthernetD/0
H! L ¥ conn e, Et Ll i 2l
y E2 10.144 0,24 10201 wia 10.1.3.2, 00:12:51. FastEthernet(/]
10.55,144.0/24 (9074096001 wia 10.1.2.2, 00:01:01. FastEthernetd/0
OE2 10.123.187.0/24 (110/20] wvia 10.1.3.2, 00:12:51, FastEthernat(/]

iigh lp eigrp topology

Router R2 should be learning the route for 10.123.187.0/24 via EIGRP. Which action resolves the issue without introducing more issues?

A. Use distribute-list to modify the route as an internal EIGRP route
B. Redistribute the route in EIGRP with metric, delay, and reliability
C. Use distribute-list to filter the external router in OSPF

D. Remove route redistribution in R2 for this route in OSPF

Answer: C

NEW QUESTION 338
- (Exam Topic 3)

Rl#show ip route ospf
1 /24 i etted, 7 bne
|; | 1 [l i 6, F 3,
i q ! 1 =1 | ] : F L! e LA

F L " |
4.4 1 ). 4 .6, ):06:43,
,: - .': l.|l 1= ()¢ ! ’

Fa: o cu

Refer to the exhibit. An engineer configured two ASBRs, 10.4.17.6 and 10.4.15.5, in an OSPF network to redistribute identical routes from BGR However, only
prefixes from 10.4.17.6 are installed into the routing table on R1. Which action must the engineer take to achieve load sharing for the BGP-originated prefixes?

A. The ASBRs are advertising the redistributed prefixes with the iBGP metric and must be modified to Type 1 on ASBR 10.4.17.6.

B. The ASBRs are advertising the redistributed prefixes with a different admin distance and must be changed to 110 on ASBR 10.4.15.5.
C. The admin distance of the prefixes must be adjusted to 20 on ASBR 10.4.15.5 to advertise prefixes to R1 identically from both ASBRs.
D. The ASBRs are advertising the redistributed prefixes as Type 1 and must be modified to Type 2

Answer: D

NEW QUESTION 342
- (Exam Topic 3)
Refer to the exhibit.

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 300-410 dumps!
rJ CEr‘tS harEd https://www.certshared.com/exam/300-410/ (530 Q&AS)

i | show ntp assocciatlions

|cPEs debug ip LCEp

An administrator is troubleshooting a time synchronization problem for the router time to another Cisco IOS XE-based device that has recently undergone

hardening. Which action resolves the issue?

A. Allow NTP in the ingress ACL on 10.1.225.40 by permitting UDP destined to port 123.

B. Ensure that he CPE router has a valid route to 10.1.255. 40 for NTP and rectify if not reachable.
C. NTP service is disabled and must be enabled on 10.1.225.40.

D. Allow NTP in the ingress ACL on 10.1.255.40 by permitting TCP destined to port 123.

Answer: C

NEW QUESTION 345
- (Exam Topic 3)
What is a MPLS PHP label operation?

A. Downstream node signals to remove the label.

B. It improves P router performance by not performing multiple label lookup.
C. It uses implicit-NULL for traffic congestion from source to destination forwarding
D. PE removes the outer label before sending to the P router.

Answer: A

NEW QUESTION 348
- (Exam Topic 3)

-

Intermet

Refer to the exhibit. Router R1 peers with two ISPs using static routes to get to the internet. The requirement is that R1 must prefer ISP-A under normal
circumstances and failover to ISP-B if the connectivity to ISP-A is lost. The engineer observes that R1 is load balancing traffic across the two ISPs Which action

resolves the issue by sending traffic to ISP-A only with failover to ISP-B?

A. Configure OSPF between R1. ISP-

B. and ISP-B for dynamic failover if any ISP link to R1 fails

C. Configure two static routes on R1. one pointing to ISP-A and another pointing to ISP- B with 222 admin distance
D. Change the bandwidth of the interface on R1 so that interface to ISP-A has a higher value than the interface to ISP-B

E. Configure two static routes on R1. one pointing to ISP-B with more specific routes and another pointing to ISP-A with summary routes

Answer: D

NEW QUESTION 351
- (Exam Topic 3)
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RE#

Sep 19 08:29:51.088: BGP: 10.10.10.2 cpen active, local address 10.0.0.14
“Sep 19 08:29:51.120: BGP: 10.10.10.2 read request no-op

*Sep 19 06:29:51.124: BGP: 10.10.10.2 open failed: Connsction refused by
remote host, cpen active delayed 12588ms (20000ms max, 60% jitter)

R2#show ip bgp neighbors 10.10.10.5
BOP neighbor is 10.10.10.5, remcote AS 65101, internal link
BGF wversion 4, remcts routsar ID 0.0.0.0
BGF state = Aotive
Last read 00:01:18, last write 00:01:18, hold tims is 15, kespalive
interval iz 3 seconds
Configured hold time is 135, keepalive interval is 3 seconds
Minimum holdtime from peighbor is 0 seconds
Address tracking is enabled, the RIBE does have a route to 10.10.10.3
Connections satablished 13; dropped 13
Last reset 00:01:18, dus to User resst
Transport(tcp) path-mtu-discovery i3 enablad
No active TCP connection

OSPF

172.16.26.1

10.10.10.2
n'liu ]
u.
“.

U 4

Y
10.10.10.1 "Q,,_O 10.10.10.5

)
“3

172.16.16.1
Site X

BGP 65101

v

-

O5PF

6

10.0.0.4/30 ~ v
[ 3

log
10.10.10.3  C&/3,

10.10.10.4

s 8

A
xﬁn“ﬂ1 : .

10.10.10.6
17 18
10.0.0,16/30 _ A
L 1
4 b BGP Peers
BGP 65201

Refer to the exhibit A customer reported a failure and intermittent disconnection between two office buildings site X and site Y The network team finds that site X
and site Y are exchanging email application traffic with the data center network Which configuration resolves the issue between site X and site Y?

A)

RC(config)# ip prefix-list Customer seq 5§ permit 192.168.30.1/32

B)
RC(config =router bgp 65101

RC(config-router)# neighbor 10.0.0.18 prefix-list Customer in

C)

RF(config)#no ip prefix-list Customer seq 5 deny 192.168.1.1/32

D)

RF(config)#router bgp 65201
RFi{confia-router ¥ neiahbor 10.0.0.17 orefix-list Customer out

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
NEW QUESTION 355

- (Exam Topic 3)
Refer to the exhibit.

ipvé accesa-list INTERNET

permit ipveé 2001:DBE8:ADES:BAZ1::/64 2001:DBE8:COAB:BAld:: /64

permit tcp 2001:DBB:ADSS:BAZl::/64 2001:DB8:COAB:BAl13::/64 eq telnet
permit tcp 2001:DBB:ADS8:BA2l::/64 any eqg http

permit ipve 2001:DB8:AD5S9:: /48 any

deny ipvé any any log

While monitoring VTY access to a router, an engineer notices that the router does not have any filter and anyone can access the router with username and

password even though an ACL is configured.
Which command resolves this issue?

A. access-class INTERNET in

B. ip access-group INTERNET in
C. ipv6 traffic-filter INTERNET in
D. ipv6 access-class INTERNET in

Answer: D

Guaranteed success with Our exam guides

visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 300-410 dumps!
D CEr‘tSharEd https://www.certshared.com/exam/300-410/ (530 Q&AS)

NEW QUESTION 357
- (Exam Topic 3)

RS
7 Cost40 R1 Cost10 s m
Y s ¥ ) EEaam—
R4 AN i
' RZ . R6
R3 /wA' Costdd WA Cost10 /w
10.10.20.0/24

Refer to the exhibit Which action ensures that 10 10 10 0/24 reaches 10 10 20 0/24 through the direct link between R1 and R2?

A. Configure R1 and R2 LAN links as nonpassive.

B. Configure R1 and R2 links under area 1

C. Configure OSPF link cost to 1 between R1 and R2
D. Configure OSPF path cost to 3 between R1 and R2

Answer: B

NEW QUESTION 359
- (Exam Topic 3)
admin@linux:~5 telnet 198.51.100. 684
Trying 198.51.100.&4...

Connected to 198.51.100.64.

Escape character i=z '~]°.
User Accesa Verification

Password: admin
CPE> exit

Connection closed by foreign host.
admin@linux:~5 ssh 198.51.100.64
admin@l88.51.100.€4"'s password: admin
Permission denied, please try again.
admin€ls8.51.100.64"s password: admin
Permission denied, please try again.
adminfl98.51.100.64"'s password: admin
Connection closed by 198.51,100.64 port 22

adminlinux:~3%

Refer to the exhibit. An administrator can log in to the device using Telnet but the attempts to log in to the same device using SSH with the same credentials fail
Which action resolves this issue?

A. Configure SSH service on the router

B. Configure transport input all on the VTY lines to allow SSH
C. Configure to use the Telnet user database for SSH as well
D. Configure the VTY lines with login local

Answer: A

NEW QUESTION 361
- (Exam Topic 3)

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 300-410 dumps!
_' CEFtSharEd https://www.certshared.com/exam/300-410/ (530 Q&AS)
RouTery ancw J91ng
ysicg logging: enabled m=ssages dropped, O oessages rate=limited, 0 Zlushes
{44 ny, XX 0.2, . Tering 4dlaab.ed
he Astive Message Discriminat
Ko Inaotive Message Discrimimator
nacle logging: level debugglng, © messages logged, xmi disabled,
sL1Tering disabled
dopitor logging: lewel debugging, 0 messages 1ogped, xoui dlsabled,
flLitering dlsabled
JuTier joQgging: Lewe.l QebugQglng, § meassges logoed, o GlIspiel;
Litering cisab.ed
Exces Jging: size 72 Dytes
count & Teatarg J91ng messages: disabled
eralatent logging: dlzabled
e —_ - — e — e e e e

Refer to the exhibit. A network engineer lost remote access to the router due to a network problem. The engineer used the console to access the router and
noticed continuous logs on the console terminal. Which configuration limits the number of log messages on the console to critical and higher seventy level

messages?

A. term no monitor

B. logging console 2
C. no logging console
D. logging console 5

Answer: D

NEW QUESTION 363
- (Exam Topic 3)

VLAN200

DHCP
SERVER

Refer to the exhibit. APC is configured to obtain an IP address automatically, but it receives an IP address only from the 169.254.0.0 subnet The DHCP server logs

contained no DHCPDISCOVER message from the MAC address of the PC. Which action resolves the issue?

A. Configure an ip helper-address on the router to forward DHCP messages to the server.
B. Configure DHCP Snooping on the switch to forwvard DHCP messages to the server.

C. Configure a DHCP reservation on the server for the PC.

D. Configure a static IP address on the PC and exclude it from the DHCP pool.

Answer: A

NEW QUESTION 365
- (Exam Topic 3)
Refer to the exhibit.
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Rl (config)#ip access-list standard EIGRP-FILTER
| (config-atd-nacl) épermit 10.10.10.0 0.0.0.255

ig) #router eigrp 10
rj idistribute-list route-map EIGRF in

nfig) froute-map EIGRF parmit 10 .
imatch ip address EIGRP-FILTER

f§zhow ip route aigrp

An engineer must filter incoming EIGRP updates to allow only a set of specific prefixes. The distribute list is tested, and it filters out all routes except network
10.10.10.0/24. How should the engineer temporarily allow all prefixes to be learned by the routers again without adjusting the existing access list?

A. A permit 20 statement should be added before completing the ACL with the required prefixes, and then the permit 20 statement can be removed.

B. A permit any statement should be added before completing the ACL with the required prefixes and then the permit any statement can be removed.

C. A continue statement should be added within the permit 10 statement before completing the ACL with the required prefixes, and then the continue statement
can be removed.

D. An extended access list must be used instead of a standard access list to accomplish the task

Answer: C

NEW QUESTION 368
- (Exam Topic 3)
Which control plane process allows the MPLS forwarding state to recover when a secondary RP takes over from a failed primary RP?

A. MP-BGP uses control plane services for label prefix bindings in the MPLS forwarding table

B. LSP uses NSF to recover from disruption *i control plane service

C. FEC uses a control plane service to distribute information between primary and secondary processors
D. LDP uses SSO to recover from disruption in control plane service

Answer: C
NEW QUESTION 372

- (Exam Topic 3)
Refer to the exhibit.

Fl#show ip route ospf

-~ g -""1_

IREFRT R R Y

ia subnetted, 7 subnets

0 E2 10.4.9.0 [110/200] wia 10.4.17.6, 00:06:43,
FastEthernet(/i

[110/200] wia 10.4.15.5, 00:06:43,
FastEthernset(/1
0 IA 10.4.27.0 [110/2] wia 10.4.15.5%, 00:0c:44,
FastEthernet(/1
0 Ed 10.4.4%9.0 [110/200] wia 10.4.17.6, 00:06:43,
FastEthernet /L

An engineer configures two ASBRs 10 4 17.6 and 10 4 15 5 in an OSPF network to redistribute routes from EIGRP However, both ASBRs show the EIGRP routes
as equal costs even though the next-hop router 10 4 17 6 is closer to R1 How should the network traffic to the EIGRP prefixes be sent via 10 4.17.6?

A. The administrative distance should be raised to 120 from the ASBR 10.4.15 5.

B. The redistributed prefixes should be advertised as Type 1

C. The ASBR 10 4 17 6 should assign a tag to match and assign a lower metnc on R1
D. The administrative distance should be raised to 120 from the ASBR 104.17.6

E. The admitstrative distance should be raised to 120 from the ASBR 104 15.5.

F. The redistributed prefixes should be advertised as Type 1.

G. The ASBR 10 4 17 6 should assign a tag to match and assign a tower metnc on R1
H. The administrative distance should be raised to 120 from the ASBR 104 17 6

Answer: B

NEW QUESTION 374
- (Exam Topic 3)
Refer to the exhibit.
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_- Area @
-

-1

e 8. 9/04

Area 150

outer osof 1 router ospf 1

router-id 0.0.0.22 router-wd 0.0.0.44

area 234 virtual-ink 10.34 34 4 Bres 234 virnua-ink 1023232
natwork 10.0.0.0 0.0.0.255 area 0 network 1034 34.0 0.0.0 255 area 234
notwork 102 2.0 0.0.0 255 aren O network 1044 44 0 0.0 0 255 aea 234
network 1022 22 0 0.0.0 255 ares 234 niehwark 10.45.45 0 0.0.0.255 area 250
network 1023 23.0 0 0.0.255 area 734

e _____ Virual Link Status

R2 -> sh ip ospf virtual-links

Virtual Link OSPF_VLO 1o router 10.34.34.4 is down
Run as demand circurt
DoNotAge LSA allowed.
Transit area 234
Topology-MTID Caost Disabled Shutdown  Topology Name

0 65535 no no Base

Transmit Delay is 1 sec, State DOWN,

The network administrator configured the network to connect two disjointed networks and ail the connectivity is up except the virtual link which causes area 250 to
be unreachable. Which two configurations resolve this issue? (Choose two.)

A. R2router ospf lrouter-id 10.23.23.2

B. R2router ospf 1no area area 234 virtual-link 10.34.34.4area 0 virtual-link 0.0.0.44
C. R4router ospf 1no area 234 virtual-link 10.23.23.2area 234 virtual-link 0.0.0.22
D. R2router ospf 1no area 234 virtual-link 10.34.34.4area 234 virtual-link 0.0.0.44

E. R4router ospf 1no area area 234 virtual-link 10.23.23.2area 0 virtual-link 0.0.0.22

Answer: CD

Explanation:

Reference: https://www.cisco.com/c/en/us/support/docs/ip/open-shortest-path-first-ospf/13703-8.html An important thing to remember when configuring virtual-link

is we need to configure the OSPF router ID and NOT the IP address of the ABR. Therefore in this question we have to use the command “area 234 virtual-link
0.0.0.44” on R2 and “area 234 virtual-link 0.0.0.22" on R4.

NEW QUESTION 376
- (Exam Topic 3)

Router A

line con 0
exec-timeout 60 0
logout-warning 15
logging synchronous
login
transport output all
stopbits 1

Refer to the exhibit After a misconfiguration by a junior engineer, the console access to router A is not working Which configuration allows access to router A?
A)

RouterA(config =aaa new-model
RouterA{config)=aaa authentication login my-auth-list tacacs+

B)
RouterA(config=line console 0

RouterAlconhg-hne =password cisco
RouterA(config=end

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 300-410 dumps!
D CEt‘tSharEd https://www.certshared.com/exam/300-410/ (530 Q&AS)

C)
RouterA(config)=line console 0

RouterA(config-ine =password cisco

RouterA(config-ine =login local
RouterA(conhg #end

D)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
NEW QUESTION 378

- (Exam Topic 3)
Refer to the exhibit.

(O R £ R T 16 1 18 H W

URLE 15 ST LE

G0 ) L subnetbsd, 1 subnsts

EUBI3Y e direstly connacted, leopbackd

S.0/02 Ly subnetied, 1 subnsta

33200 1EIFE] via 10.10.30,3, 00:0R:0E, GlgabitEtieroetllnso

i 18.9.0.5/8 Ly wariahly submstted, 7 subnets, I masks
I

€ L8 1e. 19.8/30 10 directly connected, GigabltTthersetd 870

Ll L0l ESET o8 dirpenCly connactsd, OlgabltECEsemeto oo

LR 0.0000 Gr dipestly connecisd, GlgabltItiecsetll0f]

oL .20 1D bE dirsobly connsctsd, OlgablitTtEasesatd D)l

Bl 2010 0000 [ROSA0TI] via 10,10.10.2, 0400 M., GigsbitEthernetl/0/0
B L B Lb 030 |50F332B] via 10.10.10.3, 02:0%:48, d@iganytEthernstlf0/0
& LA i0.0/ 3 [370] wis 10.10.30.2

Routers R1, R2, R3, and R4 use EIGRP However, traffic always prefers R1 to R5 backup links in nonfailure scenarios. Which configuration resolves the issue?

A)

R1(config)#no Ip route 10.40.10.0 255.255.255.252 10.10.20.2
R 1(config)#ip route 0.0.0.0 0.0.0.0 10.10.10.2

B)

R1(config)#int glgabitEthernet 0/:0/0
R1(config-if@bandwidth 10000000

C)

R1(config)#no ip route 10.40.10.0 255.255.255.252 10.10.20.2
R 1(config)mip route 10.40.10.0 255.255.255.252 10.10.20.2 115
D)

R1(config)#int gigabitEthernet 0/0/0

R1(config-f#bandwidth 10000

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 380

- (Exam Topic 3)
Drag and drop the descriptions from the left onto the corresponding MPLS components on the right.
EEr rauters in the care of the provider netwaork known as P rowters
LSP | all traffic to be forwarded using the same path and same label
LER routers that cannect to the dustamer routers kndwn as PE
routars
L& f used far axchanging label mapping snformation batwesn MPLS
| enabled routers
LD path Peng which the trafic foves acress an MPLS nebwork

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Table Description automatically generated
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NEW QUESTION 381
- (Exam Topic 3)
Refer to the exhibit.

R1{configk#ipvG prefix-list PRE-PEND-PREFIX permit 2001:db8:0;a:-'64
Ri(configiroute-map PRE-PEND permit 10
H.1{contig-route-map #match ipvs address prefindist PRE-PEND-PREFIX

R canfig-roule-mapitsel as-path prepend 65412

R A{configWouler bgp 68412

R 1{conlig-rouier#address-femily ipve I
R1({config-router-af#neighbor 2001.dbfl 020::2 route-map PRE-PENU oul

R1 has a route map configured, which results in a loss of partial IPv6 prefixes for the BGP neighbor, resulting in service degradation. How can the full service be
restored?

A. The neighbor requires a soft reconfiguration, and this will clear the policy without resetting the BGP TCP connection.

B. The prefix lit requires all prefixes that R1 is advertising to be added to it, and this will allow additional prefixes to be advertised.
C. The route map requires a deny 20 statement without set conditions, and this will allow additional prefixes to be advertised.

D. The route map requires a permit 20 statement without set conditions, and this will allow additional prefixes to be advertised.

Answer: D

NEW QUESTION 382
- (Exam Topic 3)
What is the purpose of the DHCPv6 Guard?

A. It messages between a DHCPv6 server and a DHCPV6 client ( or relay agent).
B. It shows that clients of a DHCPV5 server are affected.

C. It block DHCPv6 messages from relay agents to a DHCPv6 server.

D. It allows DHCPV6 replay and advertisements from (rouge) DHCPV6 servers.

Answer: A
Explanation:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/ipv6_fhsec/configuration/xe-16/ip6fxe- 16-book/ip6-dhcpv6e-guard.html

NEW QUESTION 385
- (Exam Topic 3)
Refer to the exhibit.

EGIJ Luh

| =N
VLAN3G VLAN1O
it

UserPC &_Floor_SW1 DHCP Server

&_Floor_SWI1H 10.221.10.10
i

'

interface YLANAG
i address 10.221.46.]1 255.255.255.0
[

2N

Users in VLAN46 cannot get the IP from the DHCP server. Assume that all the parameters are configured properly in VLAN 10 and on the DHCP server Which
command on interlace VLAN46 allows users to receive IP from the DHCP server?

A. ip dhcp-addreos 10.221.10.10
B. ip dhcp server 10.221.10.10

C. ip helper-addrets 10.221.10.10
D. ip dhcp relay information trust-all

Answer: C

NEW QUESTION 388
- (Exam Topic 3)
Refer to the exhibit.
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ipve dhep server:

ipvE unicast-routing

!

int e(y]

ipve enable

ipvE add 2001:11::1/64
ipvt nd other-config-flag
na shut

ipve dhcp server IPvEPool
!

ipve dhcp pool IPvEPool
dns-server 2002:555:11

demain-narme my.nel

ipvé dhep client:

interface Ethernet0y/1
no ip address

ipvE address dhcp
ipvE enable
no shut
ipvt dhop client ipvt dhep server
Rl R2 |

A network administrator is troubleshooting IPv6 address assignment for a DHCP client that is not getting an IPv6 address from the server.
Which configuration retrieves the client IPv6 address from the DHCP server?

A. ipv6 address autoconfig command on the interface

B. ipv6 dhcp server automatic command on DHCP server
C. ipv6 dhcp relay-agent command on the interface

D. service dhcp command on DHCP server

Answer: A
NEW QUESTION 390

- (Exam Topic 3)
Refer to the exhibit.

Rubd show ip roote wigop

Coutpial ombtbetd>

i 192 16 1. 0024 |90/9TI0000] wls 192.0668,0,11, 00:00:41, Tunneld
n 192, 1687, 0024 (909700 2000] wia 199, 068 0,19, 00:00, 41, Tunmeld
n 192 1EE. 3. 000 [90/7TILRO00] wia 192 06R.0.13, 0D:00:41, Tunneld

Hild show fun | section roster sigrp

router algrp conp

1

address-fanily Ipvd anicast sotonomous-sys tem 1
|

topology baso

salb-af-topology

nebwork 197.168.4.1 0.0.9.0

ol b - address- fami Ly

192.168.1.0/24 192,168, 2.0V24 152.168,5.0/24

Spoke routers do not learn about each other's routes in the DMVPN Phase2 network. Which action resolves the issue?

A. Remove default route from spoke routers to establish a spoke-to-spoke tunnel.
B. Configure a static route in each spoke to establish a spoke-to-spoke tunnel.

C. Rectify incorrect wildcard mask configured on the hub router network command.
D. Disable EIGRP split horizon on the TunnelO interface of the hub router.

Answer: D

NEW QUESTION 395
- (Exam Topic 3)
Refer to the exhibit.
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FiZ%# show ip ospf neighbor
E24
Z

ri¢ debug ip ospf hello

na

*Feb 22 23:46:;58,69%; OSPF-1 HELLO Etl/l: Rev hello from
10.255.255.1 area 0 10.0.23.1

*Feb 22 23:46:58.703: 0O5PF-1 HELLO Etl/l: Mismatched hello
parameters from 1 Jo 23]

¢tFeb 22 23:46:58.703:; O5PF-1 HELLO Etl/1: Dead E 30 C 20, Hell
R 10 C 10 Mask R 255.255.255.0 C 255.255.255.0

The connected routers do not show up as OSPF neighbors. Which action resolves the issue?

A. Change the R1 dead timer to 20.
B. Change the R2 dead timer to 20.
C. Change the R2 hello timer to 20.
D. Change the R1 hello timer to 20.

Answer: A
NEW QUESTION 397

- (Exam Topic 3)
Refer to the exhibit.

R
"Sap 5 07:29:34.031: YTCP-6-BADAUTH: Mo MD5 digest from 10.10.10.2(179) to
10.10.10.3(609%42) (RST)
Rd# show Ip bgp nelghbors 10.10.10.3
BGP naighbor im 10.10.10.3, remote AS 65201, external link
BGF version 4, remote router ID 0.0.0.0
BGP state = Idle
Last read 00:02:19, last write 00:02:19, hold time is 180, keepalive interval is

60 seconds
Message statistics:

Ing depth is 0
Cut] depth is 0

Sant Rowd
Opons: 2 2
Motlfications: 0 0
Updatas: 5 6
Kospalives: 10 §
Route Refresh: 0 0
Total: 17 17

Default minimuem time between advertisement runs is 30 seconds
Address tracking is enabled, the RIB does have a route to 10.10.10.3
Connections established 2; dropped 2

Last rasat 00:11:58, due Lo Peer closed the session

External BGP naighbor nmot directly connected.

Transport (top) path-mtu-discovery is enabled

Mo active TCP connectlon

BGP 65201

BGP 65101 10.10.10.2 10.10.10.3

10.10.10.4

%,
%0 17 18

10.10.10.5 10.0.0.16/ 30

10.10.10.6

The network operation team observes a traffic forwarding issue between R2 and R3:
> Ping and traceroute of loopback IP address from R2 to R3 is successful.
> iBGP peering in AS 65101 and AS 65201 is up. Which configuration resolves the issue?

A. Configure MD5 password authentication on R2.

B. Advertise R2 and R3 loopback IPs in AS 65101 and AS 65201.
C. Remove MD5 password authentication on R3.

D. Set up eBGP multihop on R2 and R3 routers.

Answer: D

NEW QUESTION 399
- (Exam Topic 3)
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1 i o1
- W A e o —_ FTRTE W)
jm— oK, oo T T,
[ — 209.165.201.2/30 e —— 103, 165200, 6/30
1060, 60.6 RE Elfping 10.60.50 &
ﬂh“hﬂ'-\'lp 2 respander | Ty otags soguence o abark
Gl 1P SLA Basgondsr oo Contral part 1967 Sending 5, 100-byte ICM# Echos 10 10 60,6005, timeaut is 2 secands:
Genesal P SLA Responder onControl V2 part 1167 T
General B SA Besporder &: Disabled Fuccess rate s L peecent |55, reund-tnp minfave'mae = 17171 ms
T
Perranent Pert IP SLA Rosponder | ip sla BSD
Permament Fort IP SL8 Besgonder is: Disabled udp-plber DGO G0LE L6384 codes g1 293 codes-sae 10
tos L84
lFequeicy S
ip £ shidule G501 forower SLaet-lima ngw

Flashaw ip 1a s
POLAS Lat sl Operd bor Sureiny
Cizdag: * pchive, ® mattwe, = peanding

0 Type  Destination  Stats Beturm  Laad
ims}  Code  Fhan
*B50 udp-jiuner 1060606 - W ceerecii 12 soconds o
an &

Refer to the exhibit. Which configuration resolves the IP SLA issue from R1 to the server?

A. R6(config)#ip sla responder

B. R6(config)#ip sla responder udp-echo ipaddress 10.60.60.6 po 5000
C. R6(config)#ip sla 650 R6(config-ip-sla)ff udp-jitter 10.60.60.6

D. R6(config)#ip sla schedule 10 life forever start-time now

Answer: A
NEW QUESTION 404

- (Exam Topic 3)
Refer to the exhibit.

Internat

Branch

Intranet
webserver

The branch router is configured with a default route toward the internet and has no routes configured for the HQ site that is connected through interface G2/0. The
HQ router is fully configured and does not require changes. Which configuration on the branch router makes the intranet website (TCP port 80) available to the
branch office users?

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 300-410 dumps!
D CEr‘tSharEd https://www.certshared.com/exam/300-410/ (530 Q&AS)

A)
iccess-hist 100 permit tcp any host intranet-webserver-ip eq 80

route-map pbr perrmit 10
match ip address 100
set ip next-hop 192.168.2.2

nterface G2/0
p policy route-map pbr

B)

access-ist 101 permit tcp any any eq 80
access-hist 102 permit tcp any host intranet-webserver-ip

route-map pbr permmit 10
match 1p address 101 102
set 1p next-hop 192.168.2.2

nterface G1/0
g policy route-map pbr

C)

access-ist 101 permit tcp any any eq 80
Jccess-ist 102 permit tcp any host intranet-webserver-ip

route-map pbr permt 10
match p address 101

Lot I1p next-nop 192.168.2.2
route-map pbr permit 20
match ip address 102

set Ip next-hop 192.168.2.2

nierface G2/0
P policy route-map pbr

D)

et s-iEr 100 permt cp nost Iﬂﬂ_'lrlﬂ-“h-“”'r.‘p eq a0 any

Me-map pbr perrmt 10
atch ip address 100
et Aeit-nop 192 168 2 2

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Explanation:

the ACL 101 matches all HTTP pakects while the ACL 102 matches TCP packets destined to Intranet webserver. These packets will be sent to HQ router.
If a match command refers to several objects in one command, either of them should match

(the logical OR algorithm is applied). For example, in the match ip address 101 102 command, a

route is permitted if it is permitted by access list 101 or access list 102.

NEW QUESTION 406
- (Exam Topic 3)
How does LDP operate in an MPLS network?

A. When topology changes occur such as a router failure, LDP generates peer discovery messages that terminate the LDP season to propagate an LSP change.
B. When an adjacent LSR receives LDP discovery message

C. TCP two-way handshake ensures that the LDP session has unidirectional connectivity.

D. Peer routers establish the LDP session, and the LDP neighbors maintain and terminate the session by exchanging messages

E. LDP notification messages allow LERs to exchange label information to determine the next hops within a particular LSP.

Answer: D

NEW QUESTION 411
- (Exam Topic 3)
Refer to the exhibit.
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An engineer implemented CoPP but did not see OSPF traffic going through it. Which configuration resolves the issue?

A. ip access-list extended OSPF permit ospf any any

B. policy-map COPP class OSFP police 8000 conform-action transmit exceed-action transmit violate-action drop

C. control-plane service-policy input COPP
D. class-map match-all OSFP match access-group name OSPF

Answer: B

NEW QUESTION 415
- (Exam Topic 3)
Which router attaches the VPN label to incoming packets from CE routing?

A. CE router
B. core router
C. P router
D. PE router

Answer: D
NEW QUESTION 419

- (Exam Topic 3)
Refer to the exhibit.
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Refer to the exhibit
R1 cannot authenticate via TACACS
Which configuration resolves the issue?

aaa group server tacacs+ DC_TACACS
server name DC_TACACS

tacacs server DC1_TACACS
address ipv4 10.66.66.66
key D@t@cinter1 TACACS

aaa group server tacacs+ DC1_TACACS
server name DC_TACACS

tacacs server DC1_TACACS
address ipvd 10.60.66.66
key D@t@cInter1 TACACS

A. Option A
B. Option B
C. Option C
D. Option D
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Answer: B

NEW QUESTION 420
- (Exam Topic 3)
Which function does LDP provide in an MPLS topology?

A. It enables a MPLS topology to connect multiple VPNSs to P routers.
B. It provides hop-by-hop forwarding in an MPLS topology for LSRs.
C. It exchanges routes for MPLS VPNSs across different VRFs.

D. It provides a means for LSRs to exchange IP routes.

Answer: B

Explanation:

LDP provides a standard methodology for hop-by-hop, or dynamic label, distribution in an MPLS network by assigning labels to routes that have been chosen by
the underlying Interior Gateway Protocol (IGP) routing protocols. The resulting labeled paths, called label switch paths (LSPs), forward label traffic across an MPLS
backbone to particular destinations.

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/mp_ldp/configuration/12-4t/mp-ldp- 12-4t-book.pdf

NEW QUESTION 421
- (Exam Topic 3)
Refer to the exhibit.

RIrAEShow ip e4rp topology all-Enks
P-EIGRP Topology Tabile for AS[1)1D(10.1.6.1)

Lnip

P 10200 1 0724, 1 successors, FD Is 2102656(
via 10 1.1 2 (21026560/20514560). Serall0
via 10 1 2 2 (46T740736/20514560). Senali

vid 10.1.3. 2 (46T740736/46228736), Serial1/2

Which action makes 10.1.3.2 the feasible successor to reach 10. 200. 1 0/24 for location S42T447E33F95?

A. Increase path bandwidth lower than 1011 2 and lower than 1012 2 between RtrA and the destination

B. Increase path bandwidth higher than 10.1 2 2 and lower than 101.1.2 between RtrA and the destination.
C. Increase path bandwidth higher than 1011 2 and lower than 1012 2 between RtrA and the destination

D. Increase path bandwidth higher than 10.1 2 2 and higher than 10.1.1.2 between RtrA and the destination

Answer: A

NEW QUESTION 426
- (Exam Topic 3)
Refer to the exhibit.

| # int tund

# ip address 192.168.12.2 255.255.255.0
f)# tunnel scurce lo
# tunnel destination 10.255.255.1

1f)# router sigrp E
b | r)# addreass-family ipvd autonomous-systam 1
B2 ({config-router-af)d net 152.168.12.2 0.0.0.0

ria lunnell, nanged Cal - 10T

An administrator is configuring a GRE tunnel to establish an EIGRP neighbor to a remote router. The other tunnel endpoint is already configured. After applying the
configuration as shown, the tunnel started flapping. Which action resolves the issue?

A. Stop sending a route matching the tunnel destination across the tunnel.

B. Modify the network command to use the TunnelO Interface netmask.

C. Advertise the LoopbackO interface from R2 across the tunnel.

D. Readdress the IP network on the Tunnel0O on both routers using the /31 netmask.

Answer: A
NEW QUESTION 428
- (Exam Topic 3)

In a DMVPN network, the Spokel user observed that the voice traffic is coming to Spoke2 users via the hub router. Which command is required on both spoke
routers to communicate directly to one another?
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A. ip nhrp map dynamic
B. ip nhrp shortcut
C. ip nhrp nhs multicast
D. ip nhrp redirect

Answer: B

NEW QUESTION 433

- (Exam Topic 3)
Drag and drop the ICMPv6 neighbor discovery messages from the left onto the correct packet types on the right.
‘,l-?‘\..‘:-'a- ST I an mEPyh Type L4
Pl Bl Rl o e St AP E Thips L7
Bilat M i irigd! [Pyl Type 135S
Aeduech Miepsane [CEPwE Type 133
Eawter SOlET 3500 Mk Type |35

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Table Description automatically generated with medium confidence

NEW QUESTION 437
- (Exam Topic 3)
Refer to the exhibit.

aaa new-model

aaa group server racius BADIUS-SERVERS

aaa authenhcation login default group RADIUS-SERVERS local

aaa authenlicalion enable defaull group RADIUS-SERVERS enable

aaa authonzalion exec defaull group RADILS-SERVERS il-authenhicatied
aaa authonizahion network default group RADIUS-SERVERS if-authenticatad
aaa accounling send stop-record authenlication failure

aaa session-id commaon

I

ine con 0

logging synchronous

stophuts 1

line viy 0 4

Keqaing synchranous

transport input ssh

A network administrator successfully logs in to a switch using SSH from a (RADIUS server When the network administrator uses a console port to access the
switch the RADIUS server returns shell:priv-lvi=15" and the switch asks to enter the enable command \ the command is entered, it gets rejected. Which command

set is used to troubleshoot and reserve this issue?

A. line con Oaaa authorization console authorization execl!line vty 0 4 transport input ssh

B. line con Oaaa authorization console!line vty 0 4 authorization exec
C. line con Oaaa authorization console priv15!line vty 0 4 authorization exec

D. line con Oaaa authorization console authorization priv15!line vty 0 4 transport input ssh

Answer: A

NEW QUESTION 438
- (Exam Topic 3)
Refer to the exhibit.
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s0
R1 F’% 1

192.168.1.0/24
Mutual redistribution is enabled between RIP and EIGRP on R2 and R5. Which configuration resolves the routing loop for the 192.168.1.0/24 network?

A. R2:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in s1!router ripnetwork 178.1.0.0redistribute eigrp 10 metric 2!access-list 1
deny 192.168.1.0 access-list 1 permit anyR5:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in sOlrouter ripnetwork
178.1.0.0redistribute eigrp 10 metric 2!'access-list 1 deny 192.168.1.0 access-list 1 permit any

B. R2:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in sO!router ripnetwork 178.1.0.0redistribute eigrp 10 metric 2!access-list 1
deny 192.168.1.0 access-list 1 permit anyR5:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in sO!router ripnetwork
178.1.0.0redistribute eigrp 10 metric 2!'access-list 1 deny 192.168.1.0 access-list 1 permit any

C. R2:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in sO!router ripnetwork 178.1.0.0redistribute eigrp 10 metric 2laccess-list 1
deny 192.168.1.0 access-list 1 permit anyR5:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in sl!router ripnetwork
178.1.0.0redistribute eigrp 10 metric 2!'access-list 1 deny 192.168.1.0 access-list 1 permit any

D. R2:router eigrp 7network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in s1!router ripnetwork 178.1.0.0redistribute eigrp 7 metric 2!access-list 1
deny 192.168.1.0 access-list 1 permit anyR5:router eigrp 7network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in s1!router ripnetwork
178.1.0.0redistribute eigrp 7 metric 2!'access-list 1 deny 192.168.1.0 access-list 1 permit any

Answer: D

Explanation:
https://www.cisco.com/c/en/us/support/docs/ip/enhanced-interior-gateway-routing-protocol-eigrp/8606-redist.ht

NEW QUESTION 441
- (Exam Topic 2)
A DMVPN single hub topology is using IPsec + mGRE with OSPF. What should be configured on the hub to ensure it will be the designated router?

A. tunnel interface of the hub with ip nhrp ospf dr

B. OSPF priority to O

C. route map to set the metrics of learned routes to 110
D. OSPF priority greater than 1

Answer: D

Explanation:
By default, the priority is 1 on all routers so we can set the OSPF priority of the hub to a value which is greater than 1 to make sure it would become the DR.

NEW QUESTION 446

- (Exam Topic 2)

When configuring Control Plane Policing on a router to protect it from malicious traffic, an engineer observes that the configured routing protocols start flapping on
that device. Which action in the Control Plane Policy prevents this problem in a production environment while achieving the security objective?

A. Set the conform-action and exceed-action to transmit initially to test the ACLs and transmit rates and apply the Control Plane Policy in the output direction
B. Set the conform-action and exceed-action to transmit initially to test the ACLs and transmit rates and apply the Control Plane Policy in the input direction
C. Set the conform-action to transmit and exceed-action to drop to test the ACLs and transmit rates and apply the Control Plane Policy m the input direction
D. Set the conform-action to transmit and exceed-action to drop to test the ACLs and transmit rates and apply the Control Plane Policy m the output direction

Answer: B

NEW QUESTION 449
- (Exam Topic 2)
Refer to the exhibit.
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ipv6 access-list inbound
permit tcp any any

deny ipvb any any log

!

interface gi0/0

ipvé traffic-filter inbound out

A network administrator configured an IPv6 access list to allow TCP return frame only, but it is not working as expected. Which changes resolve this issue?

ipv6 access-list inbound
permit tcp any any established
deny ipv6 any any log
!
interface gi0/0

ipvé traffic-filter inbound out

ipv6 access-list inbound
permit tcp any any syn
deny ipv6 any any log
!
interface gi0/0
ipv6 traffic-filter inbound out

ipv6 access-list inbound
permit tcp any any established
deny ipvB any any log
)
interface gi0/0

ipv6 traffic-filtar inbound in

ipv6 access-list inbound
permit tcp any any syn
deny ipv6 any any log
!
interface gi0/0
ipv6 traffic-filter inbound In

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
Explanation:

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst3750/software/release/122_55_se/configuration/guid

NEW QUESTION 454
- (Exam Topic 2)
Refer to the exhibit.
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A user has set up an IP SLA probe to test if a non-SLA host web server on IP address 10.1.1.1 accepts HTTP sessions prior to deployment. The probe is failing.

Which action should the network administrator recommend for the probe to succeed?

A. Re-issue the ip sla schedule command.

B. Add icmp-echo command for the host.

C. Add the control disable option to the tcp connect.
D. Modify the ip sla schedule frequency to forever.

Answer: C

NEW QUESTION 456
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